Reading the World Now _ Book 1 		Test Bank
[bookmark: _GoBack]Unit 1 Adventures on the Mississippi

A. Read the passages and answer the questions.
	Samuel Clemens was the real name of the famous writer Mark Twain.  Twain grew up in Missouri in the years before the American Civil War.  During this time, Missouri still recognized slavery as legal. These conditions had a noticeable impact on Twain’s writing. They can be seen in the themes dealt with in his novels. At the time of the Civil War, Twain was in his late twenties.  He did not actually fight in the war. He lived in Nevada and California during the war years. Even though Twain was a successful writer, he held a number of other jobs over his lifetime.  Of his novels, many feel that The Adventures of Huckleberry Finn is the best. He worked as a miner, steamboat operator, and lecturer. His wealth of experiences across the United States provided him with much of the material used in his writing. Twain did not start out writing novels, however. He wrote for newspapers first.



1. Choose the sentence that does not fit the flow of the passage.
		 		     		      

2. What is NOT true according to the passage?
 Mark Twain grew up in the US state of Missouri.
 Slavery was legal in the United States at the time Twain was growing up.
 Twain did not fight in the Civil War.
 Twain worked only as a writer in his life. 


	Of his novels, many feel that The Adventures of Huckleberry Finn is the best. The story takes place in a fictional town much like Twain’s own hometown in Missouri. Huckleberry Finn runs away to  escape from his father. His father only wants to claim him as his son in order to get his hands on the money the boy  has inherited. Huckleberry decides to escape by traveling down the Mississippi River.  In doing so, he meets a runaway slave named Jim, and the two decide that they will head south to Cairo, Illinois. There they will take a steamboat up the river so that Jim may escape into a state  which he will be legally free. The two have many adventures as they travel on the river and become friends. 
However, Huckleberry is torn. He knows that Jim is a runaway slave, and in helping him, he is doing something illegal. Coming from a slave state, Huckleberry was taught through churches and schools that slavery was both right and legal. People who helped slaves escape were viewed as criminals themselves. Throughout the novel, Huckleberry is torn between what he has been told is right and what he knows is right in his heart. He ______________ the ideas he was raised with and helps Jim escape. The novel ends with Huckleberry’s return to his hometown, where he finds that his father has died. Jim is freed, and Huckleberry states his plan to head westward.



3. Choose the grammatically incorrect one.
 		 		     		  



4. Choose the words that best fit in the blank.
 eventually embraces
 never rejects
 finally throws off  
 starts to enjoy


	The Adventures of Huckleberry Finn is notable for a number of reasons. It explores the ties of family and friends. Further, Huckleberry can be seen as one of the most dynamic characters in American literature. Throughout the story, he struggles to reconcile the views he has been raised with and what he knows is actually right. Some critics have even suggested that Huckleberry’s experiences and internal struggles represent Twain’s own struggles with the practice of slavery. The novel itself is also stylistically remarkable. It shows the true spoken language of the time; that is, Twain wrote the characters’ speech the way it was, rather than using the proper spelling. This gives the book a feeling of realism that was quite fresh at the time. 
However, the novel included a word for African Americans that was and still is considered “bad.”  As a result, The Adventures of Huckleberry Finn has been banned at times from schools and libraries.  Twain wrote a number of books, but The Adventures of Huckleberry Finn is by far the most popular.  It continues to be widely read in public schools across the United States today.  Its characters, settings, original use of language, and biting social commentary truly set the novel apart. Many consider it one of the most important books published in the United States.



5. Where is the best place to insert the sentence below?
	The main character also acts in ways that some parents and teachers do not approve of.



 		 				

6. What is the purpose of this passage?
 To claim Huckleberry Finn is the best American novel ever written.
 To tell us that Huckleberry Finn is a controversial book.
 To compare Huckleberry Finn to Mark Twain’s other work.
 To explain why Huckleberry Finn is still a popular and important book today. 



B. Choose the best word or phrase to fill in the blanks.
1. The girl and her dog went on a(n) ______________ across Nevada.
 experience		 criminal		 adventure 		 runaway

2. All libraries had to throw out copies of the book after the government ______________ it.
 approved		 banned 		 inherited		 published

3. Many Africans were bought and sold into ______________ by Europeans.
 experience		 critic			 slavery 		 adventure

4. Stealing someone else’s property is a ______________ activity.
 criminal 		 runaway		 legal			 dynamic

5. The movie ______________ said it was the best film of the summer.
 experience		 steamboat		 criminal		 critic


C. Choose the correct form of the word or phrase to fill in the blanks.
1. The sequel was not as popular as the ______________ book. 
 origin		 original 		 originate		 origination 

2. His mother did not ______________ of his choice of career.
  approve 		 approval		 approving		 approvable 

3. When his grandparents died, the woman ______________ their old house.
 inherit		 inheritance		 inherited 		 inheriting 

4. After that day, he refused to go back into the coal ______________.
 miner		 mined		 mine	 		 mining

5. The great ______________ began his journey on the island of Madagascar.
 adventuring	 adventurer  		 adventure		 advent



Unit 2 The Travels of Swift’s Satire

A. Read the passages and answer the questions.
	Jonathan Swift’s Gulliver’s Travels is considered by many to be one of the most important pieces of literature ever written. During Swift’s lifetime, satire was a popular form of writing. It sought to highlight absurd practices by taking a practice and the ideas related to it to an extreme degree. Satire lies at the heart of Gulliver’s Travels. Swift used this form of writing to criticize many of the ideas and practices of eighteenth century Europe.
The book is written as a log of Gulliver’s adventures in different countries.  The first part of the book is about Lilliput, a country inhabited by people that are only fifteen centimeters tall. Gulliver finds that the Lilliputians are at war with another country.  He is forced to aid their war effort by capturing all of the enemy’s ships used for war.  Next, Gulliver visits Brobdingnag, a country inhabited by people twelve times his size! However, Gulliver becomes an enemy of the king for refusing to invade the other country. Gulliver escapes, and the enemies of Lilliput end up helping him repair a boat to use to return home.  In his log, Gulliver writes what he sees and thinks about the war between the two countries of little people. Much of this writing is clear criticism of the war between France and Britain.



1. According to the passage, what is true about Gulliver’s Travels? 
  It is the most important book ever written.
  It was written in the nineteenth century.
  It is written as a log of Gulliver as he travels around Europe.
  It is a satirical look at the ideas of the time. 

2. Choose the sentence that does not fit the flow of the passage. 
				 		     


	Next, Gulliver visits Brobdingnag, a country inhabited by people twelve times his size! After some adventures in the country of giants, he gets the chance to discuss the state of Europe with Brobdingnag’s king. The giant king (A) [expresses / impresses] disgust on hearing about such a strange land. Swift uses this opportunity in the story to present his own critical opinions about Europe. After leaving the giants, Gulliver finds himself on the floating nation of Laputa. The people of Laputa spend all of their time studying mathematics and making music. However, its people do not know how to use either of these for practical purposes. Swift uses this strange country to criticize scientific advancements with no practical applications. Gulliver also gets to visit other countries on the way home from Laputa. Most of Gulliver’s observations about these countries relate to Europe again.
Upon reaching home in England, Gulliver plans to remain there for the rest of his life. However, with the chance to captain a ship, he travels abroad again. Gulliver then visits the nation of the Houyhnhnms. Two very different species (B) [exhibit / inhabit] the country. One species is the Houyhnhnms. These are a race of kind and wise horse-like beings. The other species is the Yahoos. These are humans, but they are cruel and (C) [vicious / friendly]. Gulliver finds himself preferring the company of the Houyhnhnms to the Yahoos, even though the Yahoos are more like the human race. Here, Swift is criticizing the practice of slavery, a common practice and business in his time.


3. What does “such a strange land” refer to? 
  England
  Lilliput
  Brobdingnag 
  Europe   

4. Choose the correct words for (A), (B), and (C). 
	  (A)		   (B)		   (C)
 expresses		exhibit		vicious
 impresses		exhibit		vicious
 expresses		inhabit		vicious 
 impresses		exhibit		friendly


	Gulliver’s Travels is clearly an important piece of literature.  First, it is beautifully well planned; there are a number of levels to the satire that Swift created. Even more important is the way that Swift used the novel to criticize the culture of the time.  Using satire, he managed to criticize many aspects of eighteenth-century European culture, from its wars to its ways of thinking. Interestingly, Swift avoids suggesting his own ideas for a better society. Every place Gulliver visits is wonderful in some way but also lacks something.  Swift’s ability to use such clever satire while holding out on suggesting his own ideal is remarkable.
If nothing else, Gulliver’s Travels remains important for the way it fascinates and inspires readers even today.  In fact, many words created by Swift for his story are now commonly used in English. In addition, many films and books continue to reference Swift’s famous satirical novel.



5.  What is the best title for this passage? 
 Levels of Swift’s Satire
 Why Gulliver’s Travels Is Important Today 
 Criticizing Eighteenth-Century Culture
 Swift’s Words Used in English Today

6. Where is the best place to insert the sentence below? 
	The novel has also clearly made a mark on English language and literature.



						 




B. Choose the best word or phrase to fill in the blanks.
1. The actions of the clown at the circus were so _________________ that we couldn’t stop laughing.
 critical		 absurd 		 scientific		 vicious

2. She wrinkled her nose in _________________ when she saw the plate of raw oysters.
 disgust 		 levels		 satire		 nation

3. The scientists discovered a new _________________ of monkey in the jungle.
 species 		 fleet			 aspect		 invasion 

4. The most interesting _________________ of the novel was its use of language.
 remark		 giant			 purpose		 aspect 

5. The war began when the foreign troops _________________ the country last week.
 fascinated		 invaded 		 refused		 remained


C. Choose the correct form of the word or phrase to fill in the blanks.
1. The prisoner attempted to _________________ from the police vehicle.
 escape 		 escapee		 escapade		 escaping

2. The archaeologists found Roman _________________ at the dig site. 
 remainder		 remains 		 remaining		 remained

3. “That is truly extraordinary,” the president _________________ after her re-election. 
 remarkable	 remarkably		 remarked 		 unremarkable

4. The ambassador claimed to speak on behalf of all the people of his _________________.
 nation 		 national		 nationalist		 nationalism

5. The motivational speaker’s speech was truly _________________, they all agreed.
 inspire		 inspirational		 inspiring 		 inspiringly 


Unit 3 Come Rain or Come Shine

A. Read the passages and answer the questions.
	(A) Weather that affects our day-to-day lives on earth occurs in the troposphere. This is the lowest region of the atmosphere. It extends 13 kilometers above the surface of the earth. Meteorologists observe the troposphere and use various tools to  help them guess weather patterns. The most basic of these tools is the thermometer. This instrument measures air temperature. Another basic tool of meteorologists is the barometer, which measures air pressure.  More advanced tools measure wind speed, wind direction, and water in the air. In the twentieth century, meteorologists began sending weather balloons, called radiosondes, into the atmosphere. Such balloons can be tracked by satellites to provide precise atmospheric data for meteorologists.

(B) Most people agree that the weather is an important part of daily life. It influences everything from our travel plans to how we dress. Yet few people understand the basics of how rain, wind, or other weather-related events occur. Weather  is affected by many factors, including atmospheric changes and jet streams. Understanding these factors  have allowed weather scientists, called meteorologists, to study the weather and to predict future weather patterns.

(C) Almost all changes in the weather are due to variations in pressure and temperature in the atmosphere. The atmosphere is divided into five layers. From highest to lowest, these parts of the atmosphere are the exosphere, thermosphere, mesosphere, stratosphere, and troposphere. Each layer is different in certain ways from the other layers. 



1. What is the correct order of the paragraphs? 
 (A) (B) (C)
 (C) (B) (A)
 (B) (C) (A) 
 (C) (A) (B) 

2. Which of the following is grammatically incorrect?
 		 		 		  

	During the summer months, temperatures in the troposphere are typically higher due to heating by sunlight.  When temperatures increase, air molecules move faster and farther from each other. This creates a low pressure system. When a low pressure system meets a high pressure system of a different temperature, it usually results in wind, precipitation, and storms.
Events in the stratosphere also affect the weather.  However, the changes that occur in the stratosphere, the layer above the troposphere, are not thoroughly understood by meteorologists. Particularly important are jet streams, the air currents that flow eastward in the stratosphere. In winter, the jet streams are stronger and can move at speeds of over 400 kilometers per hour.  The jet streams are often responsible for pushing fronts through countries and for shifting storm systems.
The next layer of the atmosphere is the mesosphere.  Scientists do not actually know much about it. The problem is that few instruments can be used for studying the mesosphere, given its height. Weather balloons and planes cannot fly that high. Satellites circle the earth above the top of the mesosphere. The only instruments useful at the height of the mesosphere are special rockets. Such rockets are not sent up to circle the earth but return after doing tests or collecting data.



3. What is the best title for this passage? 
 Life in the Troposphere
 Looking at Earth’s Atmosphere 
 How High Can Weather Balloons Fly?
 How The Stratosphere Affects the Weather

4. Where is the best place to insert the sentence below? 
	This part of the earth’s atmosphere is measured from 50 kilometers up to 85 kilometers above the earth.


 		 		 		 	


	Although scientists still have a lot to learn about the mesosphere and its effect on weather at the earth’s surface, a few interesting things have been noted by scientists. Special clouds sometimes form in the mesosphere. These clouds are much higher than normal clouds, and they only form over the earth’s poles. Another interesting event that occurs in this part of the atmosphere is lightning. This lightning is different than lightning in the lower atmosphere. It flashes in the sky more than 40 kilometers above storms in the troposphere. 
Above the mesosphere are the thermosphere and exosphere. These parts of the earth’s atmosphere are very thin, meaning molecules in these layers do not often strike each other. Most people simply think of these layers as part of space, not as part of the earth’s atmosphere.



5. What is NOT true according to the passage? 
 Scientists have a lot to learn about the mesosphere.
 The mesosphere affects the earth’s weather.
 The mesosphere is above the thermosphere and exosphere. 
 Most people think of the exosphere as part of space.

6. What does “these parts of the earth’s atmosphere” refer to?
 The mesosphere and troposphere
 The thermosphere and mesosphere
 The thermosphere and exosphere 
 The stratosphere and exosphere



B. Choose the best word or phrase to fill in the blanks.
1. Tonight will see strong storms and heavy _________ across much of the country.
 thermometer		 layer			 precipitation	 atmosphere

2. The signal is bounced off a _________, and back down to earth.
 satellite 		 layer			 data			 barometer

3. In 1969, mankind walked on the _________ of the moon.
  lightning		 data			 region		 surface 

4. Last weekend, hundreds of leading _________ met to discuss global warming.
  pressure		 meteorologists 	 regions		 weather

5. The community barbeque this Sunday has been canceled due to bad _________.
  weather 		 region		 jet stream		 variation


C. Choose the correct form of the word or phrase to fill in the blanks.
1. It was a long _________, but the patient looked to be making a full recovery.
 operate		 operation 		 operational		 operable

2. Thousands of high school students feel a lot of _________ in the weeks before their exams.
 pressured		 pressuring		 pressurize 		 pressure 

3. The conference was attended by _________ heads of state.
 variation		 varied		 various 		 vary

4. The scandal threatened to _________ the reputation he had spent years building.
 destruction		 destroyer		 destruct		 destroy 

5. Neither the manager nor the team claimed _________ for their failure in the cup final.
 responsibly		 irresponsible		 responsible		 responsibility 





Unit 4 Breaking Plates Can Break Plates

A. Read the passages and answer the questions.
	Earthquakes and tsunamis are amongst the scariest natural events. When they occur, it is usually a result of the earth’s tectonic plates shifting. (A) __________, earthquakes can also be triggered by human activities, such as mining.
(B) _________the tectonic plate theory developed in the 1960s, people did not understand the cause of earthquakes.  Ancient Greeks believed earthquakes were caused by winds that were trapped in the earth.  Even into the nineteenth century, people thought earthquakes were caused by violent explosions underground. Scientists then discovered that the earth’s surface, or crust, is made up of a number of tectonic plates.  These are like pieces of a puzzle that float over hot, liquid rock. When the pieces of the puzzle strike or move past each other, energy is generated by the friction between the two plates.  If too much pressure builds along a fault, the earth breaks suddenly, creating seismic waves that result in an earthquake.



1. Choose the correct words for (A) and (B). 
(A)			(B)
 However		During
 Nonetheless		Before
 However		Before 
 As a result of		After	

2. Where is the best place to insert the sentence below? 
	Places where plates separate or move together are called faults.



 		 		 		 



	Earthquakes remain highly unpredictable, but scientists have formulated different systems for measuring them. The most well-known system is called the Richter Scale. It was developed in 1935 by Charles Richter to measure the intensity of earthquakes. The scale ranges from zero to ten and relates to the size of the largest seismic wave recorded during an earthquake. Because the Richter Scale was created for measuring small earthquakes in particular, it does not accurately measure earthquakes larger than 6.8. Another system for measuring seismic activity is the moment magnitude scale. This is a more precise tool which measures the energy of the event rather than the size of waves. The largest recorded earthquake ever measured by the moment magnitude scale was the Great Chilean Earthquake of 1960. It was recorded as a 9.5 magnitude earthquake.
Minor earthquakes can go undetected, but they can still cause a lot of damage. On mountains, they can result in avalanches.  Tremors may also produce tsunamis in the ocean. Also known as tidal waves, tsunamis are not actually caused by the same forces that create normal ocean waves. Ocean waves are caused by wind.  Tsunamis are caused when seismic energy pushes large amounts of water away from a fault.  Not all tsunamis, however, can be predicted prior to reaching land. For example, when an earthquake occurs beneath the ocean, it pushes part of the ocean floor up.  This causes the water above that part of the ocean floor to rise. Because earthquakes trigger tsunamis, these powerful waves can often be detected by seismologists. People in the path of the tsunami can then be warned. However, there is little that can be done in terms of prevention. People can move to safe places, but buildings in a tsunami’s path must weather the storm or fall.



3. What of the following is true according to the text? 
 Earthquakes are easy to predict.
 Earthquakes can cause avalanches and tsunamis. 
 The moment magnitude scales goes up to 9.5.
 Tsunamis are impossible to detect.	

4. Choose the sentence that does NOT fit the flow of the passage.
 		 		 		 	



	Not all tsunamis, however, can be predicted prior to reaching land. The 2004 Sumatra-Andaman tsunami is a good example of how fast moving tsunamis can catch us off guard. This was the worst tsunami in recorded history, resulting in over 200,000 deaths. Seismologists believe that an earthquake measuring 9.2 on the moment magnitude scale triggered the tsunami in the Indian Ocean. This tsunami struck the coasts of Indonesia, Sri Lanka, India, and Thailand. Waves up to 30 meters high destroyed everything in their path.
The unpredictable nature of earthquakes and tsunamis makes them extremely dangerous. Scientific advancement has helped us understand much about the causes behind these destructive events. Seismologists have yet, however, to find a reliable method of prediction to help us prepare for these events and save lives.



5. What is the best title for this passage? 
 Fast-Moving Tsunamis
 The Sumatra-Andaman Tsunami
 The Unpredictability of Earthquakes and Tsunamis 
 What Is a Tsunami

6. What does “these destructive events” refer to?
 Earthquakes
 Avalanches and tsunamis
 Earthquakes and volcanic eruptions
 Earthquakes and tsunamis 




B. Choose the best word or phrase to fill in the blanks.
1. The earthquake measured 7.4 on the moment ______________ scale.
  magnitude  	 avalanche		 intensity		 explosion

2. At the first sign of ______________ activity, the news channel made a special broadcast.
 minor		 seismic 	 	 accurate		 precise

3. The shock announcement sent a ______________ of excitement through the crowd.
 friction		 scale			 tremor 		 theory

4. A new______________ was put in place for marking the exams.
system 		 magnitude		 damage		 intensity

5. The actor was praised for his ______________ in his dramatic portrayal of the lead character.
 tremor		 intensity 		 magnitude		 explosion

C. Choose the correct form of the word or phrase to fill in the blanks.
1. The scientific community would not yet _____________ on the cause of the disaster.
 theory		 theorist		 theorize 		 thesis

2. It was ______________ one year later that he was finally reunited with his daughter.
 precise		 precision		 preciseness 		 precisely 	

3. Older versions of the software were much less ______________ with their results.	
 accurate 		 accuracy		 accurately		 accurateness

4. The bomb squad was called in after reports of ______________ being found in the area.
 explosion		 explodes		 explosives 		 exploding

5. More could have been done to ______________ the attack, police sources say.
 prevent 		 preventing 		 preventable		 prevented	




Unit 5 How the Red River Flow

A. Read the passages and answer the questions.
	The circulatory system of an average human adult carries about five liters of blood. Blood has three primary components: plasma, red blood cells, and white blood cells.  Sixty percent of human blood is plasma, a watery fluid that carries necessary chemicals and nutrients throughout the body. These chemicals include glucose, fats, and amino acids. Plasma also carries waste materials, such as uric acid and carbon dioxide, away from cells.  Another job of plasma is to carry the cells that form blood clots to hurt or cut parts of the body.  Red blood cells are responsible for carrying oxygen in the blood.  White blood cells defend the body against viruses and bacteria.
The heart is the pump that keeps blood flowing throughout the circulatory system. It is divided into four chambers. The top chambers of the heart are the atria. Below each atrium is a chamber called a ventricle. Each of the four chambers has a different job. The right atrium collects blood returning to the heart. Blood entering this atrium has little oxygen in it because the oxygen has already been delivered to cells throughout the body. The left atrium, on the other hand, receives blood from the lungs. Blood entering this atrium is oxygen-rich and ready to be ___________________ the body. 



1. Where is the best place to insert the sentence below? 

The remaining forty percent of blood is divided between red and white blood cells.

 		 		 		 	

2. Choose the words that best fill the blank. 
 sent throughout 
 carried along 
 traveled within 
 sent among 



	Both atria contract at the same time, pushing the blood into the ventricles. When the ventricle below the right atrium contracts, the blood leaves the right ventricle and enters the lungs.  The left ventricle contracts at the same time, sending its blood into the rest of the body through blood vessels.
Blood vessels are essentially the pipes of the circulatory system. There are two basic types of blood vessels: arteries and veins.  Arteries move oxygen-rich blood from the heart to the cells of the body. The largest artery is the aorta. It carries blood directly from the left ventricle into the area of the stomach.  Other large arteries carry blood out of the aorta and into the head and arms. In the area of the stomach, the aorta splits into many branches. Those branches deliver blood to the organs and the lower body.  The pressure inside the veins is, naturally, much lower than that inside the arteries.
The smaller branches of the aorta are called arterioles. The arterioles continue to branch into even smaller vessels called capillaries. The walls of the capillaries are so thin that they can exchange molecules between the blood and the cells of the body. This is how the body’s cells receive oxygen from blood.



3. What is NOT true according to the passage?
 There are two basic types of blood vessels.
 The largest artery is the aorta. 
 The walls of capillaries are very thin.
 The aorta carries blood to the heart from the stomach. 

4. Choose the sentence that does not fit the flow of the passage.
 		 		 		 	


	 After delivering oxygen and food, the blood then flows from the capillaries into the vessels that will take it back to the heart. These vessels are called veins. Like arteries, veins form a branching network. From the capillaries, blood first passes into small veins called venules,  which flow into larger and larger veins. The pressure inside the veins is, naturally,  very lower than that inside the arteries. The pumping of the heart and gravity move blood effectively through the arteries. In veins, however, the flow of blood toward the heart is   mostly controlled by the muscles surrounding the veins. In addition, veins have tiny valves inside of them. These valves allow blood to flow only in one direction—toward the heart. When the returning blood arrives at the heart, it enters the right atrium.
At the heart, the circulation process begins again. Within a single day, about 4,000 liters of blood pass through the heart. This continual process sustains every cell of the human body and is thus essential to survival.



5. What is the purpose of this passage?
 To explain where blood flows
 To explain how many liters of blood flow through the heart
 To describe the process of circulation 
 To tell us how veins work

6. Which of the following is grammatically incorrect?
 		 		 		 


B. Choose the best word or phrase to fill in the blanks.
1. She has been transferred to the ___________ in New Delhi.
 bacteria		 branch 		 chamber		 average

2. The ___________ temperature this week will not climb above twenty degrees.
 valve		 circulatory		 average 		 branch

3. The heads of state will ___________ gifts before the meeting tomorrow morning.
 exchange 		 split			 clot			 divide

4. It will not be ___________ for you to come to the office tomorrow.
 thin			 necessary 		 thin			 average

5. They decided to ___________ their winnings equally between them.
 split 		 chamber		 exchange		 defend


C. Choose the correct form of the word or phrase to fill in the blanks.
1. The appointment of the new president proved ___________ among shareholders.
 divide		 division		 divided		 divisive 

2. The crowd ___________ after he finished his speech.
 thin			 thinned 		 thinner		 thinning

3. ___________ obligations forced her to pull out of the concert.
 Contract		 Contractor		 Contractual 	 Contracted

4. New reports questioned the long-term ___________ of the proposed energy plans.
 sustained		 sustainable		 sustainability 	 sustain

5. She won the race despite pulling a ___________ in the warm up.
 musculature 		 muscle 		 muscled		 muscles




Unit 6 Study Suggests Sitting Less Can Extend Life

A. Read the passages and answer the questions.
	What’s the best seat in the house? It may be whichever one you use the least. New research suggests that cutting daily sitting time to less than three hours might extend your life by two years. Humans were designed to move. But modern lifestyles and office jobs rarely prompt us to roam around. Quite the opposite, says Peter Katzmarzyk, an epidemiologist at the University of Louisiana.
 “Sitting is ubiquitous in our lives today. You know, we sit while we’re eating, we sit in the car, we sit while we watch TV. And many of us sit for many hours at work.  So on average, Americans report they sit between four and a half to five hours a day,” Katzmarzyk said.  Change is already afoot in some offices, especially when it comes to desk designs. And, he says, those chair-centered days matter to our health, just like exercise. “We can’t throw away physical activity. It’s extremely important. We have 60 years of research showing us that. But sedentary behavior is also important. . . . Even if you exercise for 30 minutes a day.  What goes on in the other 23 and a half hours a day is also very important,” Katzmarzyk said.



1. What is the purpose of this passage?
 To explain that humans should exercise 30 minutes a day
 To say that sitting too much may be unhealthy 
 To inform us to sit more than three hours a day
 To encourage the reader to never sit down

2. Choose the sentence that does not fit the flow of the passage.
 		 		 		 	



	(A) People who’ve spent half their waking lives sitting down might well ask, “Is it ever too late to make a change?” “That’s a good question. Physical activity data would say ‘No. It’s never too late.’ Physical activity is good for you at every age. We don’t know that yet about sitting. But one might assume it to be similar,” Katzmarzyk said.

(B) Katzmarzyk and his colleagues are part of a new generation of researchers trying to discover how sitting all day affects our lifespans. “This is a relatively new area of study. . . . Studies that have assessed the relationship between sitting and mortality or television viewing and mortality are very rare. There’s only been a few of them, actually five or six now, in the last four or five years,” said Katzmarzyk.

(C) Karzmarzyk and his colleagues pooled data from these studies, which involved almost 167,000 adults. Then they turned to a government-run survey of Americans to find out exactly how much time people spend sitting and watching TV. Not only did the team find that US citizens could live longer by sitting less, they found that cutting TV time to less than two hours a day could add an extra 1.4 years to their lives.



3. What is the correct order of the paragraphs?
  (B) (A) (C)
  (A) (C) (B)
  (C) (A) (B)
  (B) (C) (A) 

4. What is true according to the paragraphs?
 Studies that look at the relationship between sitting and mortality are rare. 
 Americans could live shorter lives if they sit less.
 Watching at least two hours of TV per day could add 1.4 years to your life.
 Karzmarzyk’s field of study is well-established.



	Change is already afoot in some offices, especially when it comes to desk designs. “That’s one of the strategies that many companies are using now. They  may have got five standing desks for their employees or a treadmill desk. I’ve heard of  other companies where they may not have a desk for every person. But they’ll have a bank of these desks where people can go for an hour a day and answer their emails or talk on the phone,” Katzmarzyk said.
Katzmarzyk says  simple studying this problem has inspired his team to make a few changes in their own lives. “As a university professor, you know, it is a very sedentary occupation.  We’re chained to a desk in terms of writing papers and doing research. We really try to limit the amount of time we spend doing that,” said Katzmarzyk.



5. Which of the following is grammatically incorrect?
 		 		 		   

6. What does “change is already afoot” mean?
 Change cannot happen
 Things have changed but in negative ways
 People are resisting change
 Things are starting to change 




B. Choose the best word or phrase to fill in the blanks.
1. Cases of the disease are incredibly ______________ but very dangerous.
 rare			 adult			 modern		 prompt

2. Tickets for this show always go fast, so please be ______________ in your reply.
 ubiquitous		 rare			 prompt 		 sedentary

3. Police and firefighters will______________ the damage before they open the roads again.
 affect		 assess 		 extend		 roam

4. Heavy snowfall will ______________ bus and train routes this morning.
 survey		 involve		 relate		 affect 

5. A ______________ lifestyle can lead to health problems in later life.
 rare			 sedentary 		 ubiquitous		 adult


C. Choose the correct form of the word or phrase to fill in the blanks.
1. The new business plan will attempt to ______________ the company.
 modern		 modernity		 modernize 		 modernization

2. They have to get planning permission to build the ______________ on their house.
 extend		 extension 		 extending		 extends

3. They brought in an outside ______________ to help them win the contract.
 strategic		 strategize		 strategist 		 strategically

4. Last week, volunteers ______________ all the streets in the neighborhood.
 survey		 surveyor		 surveyed 		 surveillance 

5. Your account has been suspended due to suspicious ______________.
 activity 		 inactivity		 activate		 active




Unit 7 Looking at Babies Learning to Speak
 
A. Read the passages and answer the questions.
	(A) The imitation theory focuses on the habit children have of repeating what their parents say. This is a widely recognized trait of young children. The theory suggests that imitation is the basis by which children learn a language. Parents play an important role in speech development for this particular hypothesis.

 (B) The nature of language acquisition is still mysterious. From birth, children seem to have a natural interest and desire toward learning to speak. Most children are able to speak in simple sentences by the age of two. Researchers have formed many theories as to why children are able to easily learn a language. These theories try to explain some of the unknown aspects of language acquisition. In particular, they examine the behavior children display during the various stages of speech development.

(C) There are two interesting habits of most parents that directly relate to this theory of language learning. First, parents seem to naturally adapt their normal manner of speaking to suit infants and very young children. They change their voice and speak in much simpler sentences. This kind of language is known as child-directed speech, or more informally “motherese.” There have actually been studies showing that children enjoy this variety of speech more than typical adult speech. 



1. What is the correct order of the paragraphs?
  (C) (B) (A)
  (B) (A) (C) 
  (B) (C) (A) 
  (A) (C) (B) 

2. What does “this variety of speech” refer to?
 Language spoken by a child
 Imitated speech
  “Motherese,” or child-directed speech 
 Typical adult speech



	Another habit scientists noted is how parents simulate conversations with children. The parent will say something to the infant and pause, signaling to him or her to respond.  When the child makes a noise of some sort, the parent continues as if the child had actually given a proper answer.
(A) ____________ to the imitation theory, another explanation of how children might develop language is the conditioning theory.  According to this theory, children are conditioned to speak in certain ways by the way parents act. Again, the parents and the environment in which the child is raised have a huge influence on the child’s language learning.  A word association is formed in the child’s mind. When the child says the word, the parent offers praise. (B) ____________, the parent reinforces to the child what the bottle is.  Researchers view the natural stages a child goes through while growing as support for this theory. They argue that as word associations become more complex, children are able to form more difficult sentences.



3. What is the best place to insert the sentence below?

For example, say a child hears the word “bottle,” and then the parent gives the child his or her bottle.

 		 		 		

4. Choose the correct words for (A) and (B).
(A)		   (B)
 Again		However
 In addition		Thus 
 According		As a result of this 
 Additionally		Therefore


	Despite how well these theories seem to explain language learning, there are some things that they do not explain. The imitation theory, for example, fails to explain the child’s ability to learn correct grammar when adults often speak in incorrect ways. The conditioning theory, in the same way, does not consider that children use words in creative ways. A child will apply a word to an object or situation that he or she has never seen or experienced. Neither theory explains how children are able to figure out the rules of a language. By listening to children speak, a child’s application of “rules of the language” can be heard through mistakes. An example of this would be when a child uses a regular past tense ending on a verb that has an irregular past tense form.
In an attempt to explain some of these characteristics of language development, scientists often apply the concept of innate ability. Children have a natural desire to learn a language. Most children’s natural ability to learn speech quickly suggests that language acquisition is an innate skill in humans. As a result, scientists generally combine the imitation or conditioning theory with the theory of innateness.



5. What is NOT true according to the passage?
 The imitation theory explains everything about language development. 
 Children have a natural desire to speak.
 Language acquisition is an innate skill in humans.
 Children can often learn correct grammar despite adults speaking incorrectly.

6. What is the purpose of this passage?
 To explain why the imitation theory is flawed
 To show that there is no simple answer to how children learn language 
 To highlight that scientists know nothing about language acquisition
 To show that the conditioning theory is most likely correct



B. Choose the best word or phrase to fill in the blanks.
1. He overheard a private ______________ between his superiors.
 conversation 		 habit			 desire		 acquisition

2. As a vegetarian, she only ate ______________ meat made from soy beans.
 innate		 imitation 		 tense			 mysterious

3. As a New Year’s resolution, he vowed to stop his bad ______________ of biting his nails.
 imitation		 desire		 habit 		 development

4. The experiment exactly ______________ the conditions of a natural event.
 adapted		 reinforced		 attempted		 simulated 

5. The world’s ______________ resources are running out.
 natural 		 mysterious		 infant		 innate


C. Choose the correct form of the word or phrase to fill in the blanks.
1. The empty lot will become a new housing ______________.
 development 	 developer		 develop		 developing

2. She had to go to the store to buy an ______________ for her laptop.
 adapt		 adapter 		 adaptation		 adapting

3. He had not been back there since he was an ______________.
 infant 		 infantile 		 infantilize		 infants

4. The owners could find no clues to explain the ______________ disappearance of their cat.
 mystery		 mysterious 		 mysteriously		 mystic 

5. The two-hour ______________ was broadcast as a news special the following night.
 conversation 		 converse		 conversing		 conversationally 



Unit 8 The Big Deal About Small Talk
 A. Read the passages and answer the questions.
	Small talk is casual conversation that, on the surface, seems unimportant.  Happening almost everywhere, it takes place between people who do not know each other well. It often involves short conversations about common interests.  Shoppers may use small talk to pass the time while waiting in line to pay for items. A hairdresser might keep up a steady conversation of small talk with the customer whose hair is being styled.  A waitress who is skilled at small talk may receive a larger tip from guests at a restaurant. Co-workers may exchange a few words about the weather at the water cooler.  (A) ___________, small talk is used to strike up conversations with strangers.
Although the topics may be nothing serious, the act of engaging in small talk can actually be extremely significant. (B) ___________, small talk fills uncomfortable silences, setting people at ease. Through small talk, people can get to know one another. They can exchange information and share facts about their lives, such as what they do for a living or how they like to spend their free time. In gaining some sense of each other, people discover common ground. Indeed, small talk is essential to developing relationships. It is the match that lights the fire of friendship.



1. Where is the best place to insert the sentence below?
	The most common situations for small talk, however, are at parties or social gatherings.



 		 				 	

2. Choose the correct words for (A) and (B).
(A)		(B)
 By comparison	In many situations
 In this way		As a result of this
 At such times	In many situations 
 At such times	In this case



	The way small talk is used and valued varies by culture. Suitable topics for small talk are not universal. For example, in American culture, questions about personal income are not acceptable.  However, in Malaysia, asking about someone’s salary is a normal part of small talk. In the United Arab Emirates, where female family life is extremely private, questions about a person’s wife or daughters are off-limits. In many cultures, formal business meetings begin with a certain amount of small talk. How long small talk should last will depend on the culture.  In a business meeting in Turkey, small talk happens before any business discussion. In that culture, business relationships are built on personal rapport and friendship. Such rapport is considered essential to doing business. Germans, however, tend to consider small talk a waste of time in business meetings.  They prefer to get right to the point of the meeting.
While what is shared through small talk can build understanding between people, it can also send subtle messages. These messages can prepare others to participate effectively in a later meeting or to listen carefully during a lecture or speech.  Most likely, that is the person who will be chosen for the job. Those who are effective at making good first impressions through small talk are seen as better communicators in more formal situations.



3. What is NOT true according to the passage?
 Germans never use small talk. 
 People in Malaysia consider it normal to talk about personal income.
 People who are good at small talk are seen as good communicators.
 Topics for small talk differ by country.

4. Choose the sentence that does NOT fit the flow of the passage.
 		 				 


	A person’s skill at small talk may make a difference in competitive situations such as a job interview. When faced with two interviewees of similar qualifications and ability, first impressions may win out. The hiring manager is more likely to choose the person who created the best impression walking in the door. Which one took time to build rapport with the interviewer? Which one used small talk before the formal interview to create a comfortable atmosphere? Most likely, that is the person who will be chosen for the job.
One study focusing on communication skills looked at business school graduates. Researchers were interested to see if there was any relation between the conversation skills of the graduates and success in their careers. Ten years after graduation, it was found that the most successful graduates were those with good conversation skills. They had the ability to speak to just about anyone using small talk. They also had the clear ability to make others feel at ease through conversation. Needless to say, their skill at presenting in front of audiences was excellent as well.



5. Who does “that is the person” refer to?
 The interviewee who did not use small talk
 The hiring manager
 The interviewee with the best qualifications
 he interviewee who was best at small talk 

6. What is the main point of this passage?
 That small talk has no place in business
 That small talk is important to being successful in business 
 That people who master small talk will always be successful
 That small talk should only be used in an interview



B. Choose the best word or phrase to fill in the blanks.
1. The new chat show host has a really good ___________ with the audience.
 communication	 audience		 impression		 rapport 

2. He was not able to ___________ in the event due to a prior engagement.
 participate 		 communicate		 inform		 gather

3. The coach made ___________ changes at half time, bringing on two more strikers.
 formal		 female		 significant 		 casual

4. He did not make a good first ___________ with the new school principal.
 communication	 impression 		 salary 		 audience

5. The difference between the two colors is ___________ and hard to see.
 essential		 casual		 steady		 subtle 

 
C. Choose the correct form of the word or phrase to fill in the blanks.
1. The farmers spend long days in the field ___________ their harvest 
 gather		 gatherer		 gathering 		 gathered

2. She ___________ her son after he failed to win the gold medal.
 comfort		 comforting		 comfortable		 comforted 

3. The ___________ had not gone well for Sally, and she feared she would not get the job.
 interview 		 interviewee		 interviewed		 interviewer

4. He finally managed to ___________ after taking an extra year to complete his degree.
 graduating		 graduation		  graduate 		 graduated

5. Though he would never admit it in public, ___________ he admitted he had been afraid.
 privation 		 privately 		 privy			 private




Unit 9 The Rise and Fall of the Mongol Empire
 A. Read the passages and answer the questions.
	Genghis Khan was ruler of the Mongol Empire, the largest empire in history, which extended across central Asia from the Caspian Sea to the East Sea. Born into a small Mongol tribe in the twelfth century, Genghis Khan was a political and military genius. His leadership and conquests united the Mongols and other nomadic tribes into a vast and wealthy empire.
Genghis Khan’s birth name was Temüjin, which means “ironworker.”  Thirteen years after Temüjin’s birth, his father, chief of their Mongol village, was poisoned by members of an enemy tribe.  The young Temüjin stepped in to take control, but he was denied the chiefdom by his own people. The Mongol poem The Secret History of the Mongols, written during the mid-thirteenth century, describes this part of Temüjin’s life.  Tribe members left Temüjin and his family to live on their own as best they could.  After his death, his son Ögedei led the Mongol army in an invasion of Europe. Temüjin did not wait long, however, to find loyal followers and build alliances. With these men, he formed an army and conquered neighboring tribes to extend his power.



1. Choose the sentence that does NOT fit the flow of the passage.
 		 				 

2. Which of the following words is closest in meaning to “conquests”?
 battles
 defeats
 victories 
 attacks



	By 1206, Temüjin (A) [wears / wore] the Mongolian crown. During his early rule over Mongolia, Mongol chieftains came to name him Genghis Khan. This title means both “ruler above all others” and “prince who cannot be beaten.” Unsatisfied with his present empire, Genghis Khan (B) [set out / sets out] to conquer China, invading kingdoms across northern China. In 1215, he conquered Beijing, the capital of the Chin Empire. In 1218, the armies of Genghis Khan moved west and south. They took control of kingdoms across present-day Uzbekistan, Turkmenistan, and Iran. Smaller units branched off from the main army, (C) [conquered / conquering] land as far west as the Caspian Sea. They also traveled as far north as the Russian city of Novgorod in 1240. Genghis Khan’s armies were ruthless in their conquests, often burning villages and killing prisoners.
Genghis Khan died in 1227. After his death, his son Ögedei led the Mongol army in an invasion of Europe. Ögedei’s army completely destroyed a large part of what is now Hungary and Poland. Upon his death in battle, however, the Mongol generals pulled their troops from Western Europe.



3. According to the passage, which of the following statements is NOT true?
 Genghis Khan means “prince who cannot be beaten.”
 Genghis Khan’s main army went as far east as the Caspian Sea. 
 Genghis Khan’s armies did not keep prisoners alive. 
 Ögedei led the Mongol army after the death of Genghis Khan.

4. Choose the grammatically correct words for (A), (B), and (C).
(A)	   (B)		    (C)
 wears	set out		conquered
 wore		sets out		conquered
 wore		set out		conquering
 wears 	set out		conquering



	(A) Genghis Khan and the empire of the Mongols played an important role in shaping Asian and European history. The empire encouraged contacts and connections across Asia and Europe. Although the Mongol Empire lasted less than 200 years, it brought together many of the different cultures and people of the thirteenth and fourteenth centuries.

(B) Kublai Khan, a grandson of Genghis Khan, next took control and completed the conquest of China in 1279. This was the beginning of the Yuan Dynasty of China, which lasted until 1368. As a leader, Kublai Khan was somewhat different in that he was open to various religions. He accepted people from all religions, including Islam, Christianity, Buddhism, and Taoism. He also showed interest in the ideals of Confucianism and Chinese politics. The lack of cultural unity throughout the Mongol Empire, however, led to its downfall in the end. Upon the death of Kublai Khan, his empire split into various smaller empires.

(C) In the late 1300s, the Great Timur, a descendant of Genghis Khan, brought together some of the smaller Mongol Empires. Another descendant of Genghis Khan named Babar set up a Mongol state in India in 1526. He named his powerful state Kingdom of the Great Moghuls. The term “Moghul” comes from the Persian language and translates as “Mongol.” The Moghuls, one of whom built the famous Taj Mahal, ruled in India until the 1700s, when the British took control.



5. What is the correct order of the paragraphs?
  (B) (C) (A) 
  (C) (B) (A)
  (A) (C) (D)
  (A) (B) (C)

6. What is the purpose of this passage?
 To highlight the reason for the downfall of the Mongol Empire
 To explain why the British took control of India
 To show how the Mongols were influential in connecting Asia and Europe 
 To show by Genghis Khan’s descendants destroyed his empire



B. Choose the best word or phrase to fill in the blanks.
1. The ____________ of the tribe welcomed the reporters to his village.
 alliance		 chieftain 		 ideal			 invasion

2. She was hailed as a ____________ from an early age.
 ideal 		 invasion		 troop			 genius 

3. The dictator was known for his ____________ treatment of potential enemies.
 ruthless 		 ideal			 military		 religious

4. Local ____________ tribes are finding their traditional ways of life threatened. 
 ideal			 encouraging		 nomadic 		 genius

5. The strong winds and rain caused problems with the town’s Internet ____________.
 troops		 connection 		 invasion		 descendant

C. Choose the correct form of the word or phrase to fill in the blanks.
1. The snake has a strong ____________ that can cause paralysis and even death.
 poison 		 poisonous		 poisoned		 anti-poison

2. There was a need for further ____________ after the fighting escalated.
 troop			 trooper		 troops 		 trooped

3. The two nations proposed an ____________ in the face of a common enemy.
 alliance 		 ally			 allied		 alliances

4. Without a ____________ to let him know what was being said, the diplomat was confused.
 translate		 translator 		 translational		 translating

5. Queen Victoria was known as the ____________ of India.
 Empire		 Empirical 		 Empress 		 Emperor




Unit 10 The Spanish Conquest of Mexico

A. Read the passages and answer the questions.
	The Aztec civilization was at its height when the Spanish began their conquest of Mexico. Over the previous century, the Aztecs had developed a highly organized dynasty.  Tenochtitlan, now named Mexico City, was the capital and home to an estimated 300,000 people. Beyond the capital, the Aztec rulers controlled and taxed distant communities. About 12 million people were counted across the empire.
In 1502, Montezuma was the religious and political leader of the Aztecs.  Although he is often pictured as a weak and superstitious leader, this may not be true.  In Aztec society, he may have had to support Aztec religious beliefs and political freedoms in ways that made him appear weak to the Spanish.
In 1517, Diego Velazquez, the Spanish governor of Cuba, sent his first expedition into Mexico, seeking riches and new territory.  He then arranged a second force to continue the exploration. Hernando Cortez was selected to begin a trading expedition in 1518 before the second force returned. Cortez was a man of wealth and power. He quickly built a force that Velazquez considered too large for the defined expedition. Fearing Cortez’s plans upon arriving in the Americas, Velazquez canceled the expedition. Cortez set sail for Mexico anyway in 1519.



1. What is true according to the text?
 Diego Velazquez sent his first expedition to Mexico in 1502.
 The Aztecs had developed an organized dynasty for a thousand years.
 Hernando Cortez was a very rich and powerful man. 
 Tenochtitlan was home to 12 million people.

2. Where is the best place to insert the sentence below?
	Montezuma was responsible for making the empire larger and for strengthening the role of the capital.



 		 				




	(A) _________ landing in the Americas, Cortez and his forces won a series of battles against the native people. He even created a city at Veracruz. Cortez was perhaps unusual among Spanish leaders in one regard.  He believed that alliance with and religious conversion of native people would serve the Spanish better than killing them and making them slaves. (B) _________, not all of the men under Cortez agreed with him.  While creating alliances with the native tribes, Cortez struggled to maintain the loyalty of his Cuban troops. At one point, he had to destroy his own ships to prevent his forces from deserting him.  Cortez did not give up the idea of taking Tenochtitlan from the Aztecs, though. Cortez then proceeded toward the Aztec capital with all his men, both willing and unwilling. Cortez’s forces were made up of his original men and native tribes who felt threatened by the Aztecs.
Montezuma sent messengers and generous gifts when he heard Cortez was on his way to Tenochtitlan.  It is widely suggested that Montezuma thought Cortez was the light-skinned bearded god Quetzalcoatl. However, this was never actually documented. It is more likely that Montezuma was thinking about the prediction that his empire would face a crisis in that year of the Aztec calendar. 



3. Choose the correct words for (A) and (B).
(A)		    (B)
 Upon		However 
 While		During
 Meanwhile		However
 Upon		For example

4. Choose the sentence that does NOT fit the flow of the passage.
 				 		


	Whether (A) [to please / pleasing] a god or prevent a catastrophe, Montezuma attempted to peacefully block the Spanish from the capital. He failed, however, and the Spanish entered the city without a struggle. Once in the city, Cortez imprisoned Montezuma and held him for a ransom of gold, silver, food, and women. However, the people of Tenochtitlan did not sit quietly by and watch the Spanish take control. In the end, Montezuma was killed, and the Spanish (B) [forced / were forced] to fight. The Aztecs vastly outnumbered the Spanish troops. Cortez and his men ran for their lives.
Cortez did not (C) [give up / gave up] the idea of taking Tenochtitlan from the Aztecs, though. He returned to the city in 1521 with more men. After three months of fighting, the city finally fell to the Spanish. Tenochtitlan was renamed Mexico City, and Cortez was named governor of New Spain. However, this title was later taken from Cortez in 1528. The Spanish king made him return to Spain after hearing rumors that Cortez was becoming too powerful.



5. What is the purpose of this passage?
 To show that Montezuma was a bad leader
 To criticize the Spanish conquest of the Aztecs
 To highlight the strengths of Spanish society over Aztec society
 To explain how Cortez finally beat Montezuma but was forced to return home 

6. Choose the grammatically correct words for (A), (B), and (C).
(A)	   (B)		    (C)
 to please	forced		give up
 pleasing	forced		gave up
 to please	were forced	give up 
 pleasing	were forced	gave up



B. Choose the best word or phrase to fill in the blanks.
1. They needed volunteers to help ____________ the chairs for the town meeting.
 arrange 		 battle		 educate		 proceed

2. The relics were those of an ancient ____________.
 catastrophe		 ransom		 civilization 		 crisis

3. The police responded calmly and professionally to the ____________.
 wealth		 civilization		 territory		 crisis 

4. He found it difficult to ____________ the pace, however, and was overtaken on the last lap.
 maintain 		 arrange		 arrange		 proceed

5. The Grand Canyon is a truly ____________ natural wonder.
 superstitious		 previous		 vast			 educated


C. Choose the correct form of the word or phrase to fill in the blanks.
1. He ____________ to speak, even though the crowd was becoming increasingly hostile.
 proceed		 proceeded 		 proceeds		 proceedings

2. The owner ____________ to fire the coach after the latest in a series of defeats.
 threat		 threaten		 threatening		 threatened 

3. He took a long time ____________ a new coat for the winter.
 select		 selecting 		 selection 		 selective

4. She won the Oscar for Best ____________ Actress for the second time.
 Support		 Supporting 		 Supported		 Supports

5. The boxer found it difficult to ____________ his weight between matches.
 maintains		 maintained		 maintenance		 maintain 



Unit 11 Internet Fundraising Helps Farmers Flourish
A. Read the passages and answer the questions.
	Josh Brill and Meadow Squire grow vegetables and rice in Tinmouth, Vermont. They wanted to expand their rice production last fall, but lacked the needed funds to do it. So they posted a six-minute video on Kickstarter, a crowd-sourced funding website. ? Brill and Squire raised over $6,000.
Thousands of Americans use Kickstarter to raise money for specific projects. ? The site launched in 2009 primarily to help artists and musicians, but today inventors, entrepreneurs, and a growing number of farmers are also using the site. Scott Nelson of Friendly Folk Farm in Brookfield, Vermont, is one of them. He wanted to document the growth and development of his farm-to create a kind of how-to video for others interested in organic farming. He raised nearly $9,000 on Kickstarter.? 
To raise money on Kickstarter, you have to have a specific, creative project in mind- one approved by the website. Many entrepreneurs, like Brill and Squire, include a video to explain what their project is and why people should support it. There’s also a deadline for raising the cash-typically about 30 days. To entice people to pledge, projects also include a list of thank you gifts for various levels of support. ? Brill and Squire gave supporters packs of seeds, rice they’d harvested, and good karma points. “Yeah,” Squire says with a laugh. “Everyone needs more karma, I think.”
If a project meets its funding goal in time, Kickstarter takes five percent of the proceeds while Amazon takes another three to five percent for credit card processing fees. Forty-five hundred creative projects are currently seeking money on Kickstarter. Officials at the site say they don’t track farm-related projects, but with $3 million being pledged each week it’s not surprising that farmers want in.



1. Where is the best place to insert the sentence below?
	Seventy-six people thought enough of the couple’s dream to send them money.



      		     		     		     

2. What is NOT true according to the passage?
 Projects on Kickstarter are specific and creative. 
 People are only given 30 days to raise money on the site. 
 Kickstarter is a site just for musicians, arts and farmers. 
 It is not known how many farm related projects are on the site. 



	Walter and Holly Jeffries own Sugar Mountain Farm-a 28-hectare spread in West Topsham, Vermont, where they’re raising 300 pigs.  They’ve been in business since 2003 and have a loyal clientele for their pork. Because commercial slaughtering and butchering facilities are in short supply in Vermont, Holly has to drive to a meat processor 240 kilometers away.
“My wife drives down to Massachusetts and it’s a  seven-hour trip every week,” Walter says. “It’s a long drive, it’s a lot of gasoline, and it’s a lot of time.” And because the van can only carry six pigs per trip, it limits the amount of pork the couple can sell. “We actually calculated that between the time of loading the pigs and driving down and spending the time sorting our orders that the butcher has done for us and beginning deliveries,” Holly says. “In that same amount of time, we could slaughter and cut the pigs ourselves.”
So, they thought, why not build their own  government-inspected butcher shop right on their farm? Financing from banks  was hardly to get in 2008, however, as the recession was just beginning. But with loans from friends and family and their own savings, the Jeffries managed to get quite a bit of their butcher shop built-but not all of it.”In the spring some customer suggested why don’t you try Kickstarter?” Walter says. “This was in 2010.”
(A)__________ back then, Kickstarter was still primarily geared to artists and musicians, and the website turned their butcher shop proposal down. “This winter another customer said, ‘Hey, there’s a project on Kickstarter that’s just like yours.’ (B)__________, it turned out that the project that was inspired by ours,” Walter says. “These were farmers down in Pennsylvania, and they had been inspired to farm the way we do by reading my blog for years.”



3. Choose the grammatically incorrect one.
    	 	     		     		 

4. Choose the correct words for (A) and (B) 
           (A) 	               (B) 	        
 On the other hand  	Therefore
 However       	Regardless
 But  			In fact 
 In contrast   		After all



	That was North Mountain Pastures in Pennsylvania, which raised $48,000 this winter to build a small-scale meat-curing facility on their farm. When the Jeffries saw that project on Kickstarter, they approached the website again.  This time, they were approved and raised more than $33,000. “Kickstarter is a platform,” says Holly, “but it’s really a matter of us getting the word out, letting people know it’s there.”
Which may be why more and more farmers are successfully raising money on crowd-sourced funding sites like Kickstarter. That brings us back to our rice farmers in Tinmouth.  Rice is a staple food in many parts of the world. While Meadow Squire checks on a pair of baby goats, her partner Josh Brill walks across the mud to point out new rice paddies they put in with funds from Kickstarter. “One of the key things that Kickstarter allowed us to do was reach out,” Brill says, “having the video online and being able to link with Facebook.”
“It really was free advertising for us,” Squire adds, “and there’s already so much anticipation about the rice coming that we would not have had if we just had gotten a loan from a bank.”  The couple hopes that buzz will help boost sales this year.  And they say the feedback has been really inspiring, especially from other farmers. Brill says one pledge came all the way from New Zealand. “When someone is willing to put up their money for your farm, that means something. It’s like you would feel bad if you couldn’t succeed for them.” He’s not sure, but Brill doubts he’d feel quite as emotional about a bank loan.



5. Choose the sentence that does not fit the flow of the passage.
     		      		     		     

6. What is the best title for this passage?
 Kickstarter: Not Just for Musicians Anymore
 Farmers in America Need Your Help!
 How to Make a Video for Kickstarter
 Earn Karma Points by Giving to Kickstarter 



B. Choose the best word or phrase to fill in the blanks.
1. The ___________ had a very good idea for a new business. 
 entrepreneur 		 pasture		 recession		 clientele

2. The woman walked out on the ___________ and gave a speech.
 launch		 platform 		 butcher		 commercial

3. My mom had to pay a delivery ___________ to get something shipped to the house.
 doubt		 fee 			 pledge		 proposal

4. The store had a lot of nice shoes, but she was looking for a ___________ pair.
 platform		 launch 		 commercial      	 specific 

5. I like to buy my meat at the ______________ down the street.
 fee 			 commercial		 butcher 		 primary


C. Choose the correct form of the word or phrase to fill in the blanks.
1. I ______________ this problem, so I brought some extra water.
 anticipated 		 anticipate		 anticipation		 anticipates	 

2. We are _____________ how much everyone owes us for the meal.
 calculation		 calculate		 calculator		 calculating  

3. The successful store is now making plans to ___________ its operations.	
 expansion		 expanded		 expand 		 expansive	

4. It is very __________ that they can finish all their work in the next hour.
 doubting		 doubtful 		 doubtingly		 doubts

5. They’re ___________ that we go to the 9 o’clock showing of the movie tonight.
 proposing 		 proposal		 proposed		 proposition



Unit 12 How Technology Shook Up the Music Industry

A. Read the passages and answer the questions.
	Today, it is not unusual to see a man who seems to be talking to himself as he walks along the street. He is not actually talking to himself. He is talking to some kind of small device, like a cell phone, an earphone, or a recording device. These small devices have changed many aspects of modern society and culture.  Technology has affected the way people interact with others, consume products, and offer new products to the market.
Technology has clear effects on the way people interact with others.  Consider earphones and the devices to which they attach, for example. Earphones allow people to easily shut out the outside world. Listeners can then create a personal space where they have control over the inputs. When earphones are visible, they send a clear message to others not to interact with the wearer.  Wearers can progress through their day without actually communicating with those around them. Portable music players also ensure that people never have to be alone with their own thoughts.  Music players provide entertainment and noise to fill every waking moment. Listeners don’t have to worry about either getting caught up in their own thoughts or engaging in communication with others.



1. According to the passage, which of the following statements is true?
 People hate to be alone with their own thoughts.
 Music is changing the way people consume products.
 Today, more and more people are talking to themselves than ever. 
 Wearing earphones tells others that a person doesn’t want to be bothered. 

2. Where is the best place to insert the sentence below?
	Silence makes many people uncomfortable.



     		     		     		      




	Advances in technology have also changed the way people consume products. Take music, for example. People used to listen to the radio to learn about new artists. When they heard something they liked, they would drop by the record store and buy an album. Buyers would then take the album home to listen to it. Perhaps they would admire the artwork on the album cover while listening. When getting together with friends, people often talked about artists and albums that were popular. People related to each other through a shared taste in music. Some even got together just to listen to music and swap albums.
Things are different today. Now people have MP3 players or other small digital music devices.  These devices have changed quite a bit the way people listen to music.  People can store more songs than they could ever hope to listen to on a device that fits in their pocket.  People also buy music on the Internet rather than buying albums from music stores. The Internet has opened up a whole new world of music to many listeners. These days, a wider variety of music is accessible to all music lovers.  Many people still prefer live music to recorded music of any kind. People no longer have to rely on the radio for access to new music.



3. What is the purpose of this sentence in the passage?
	Perhaps they would admire the artwork on the album cover while listening.



 To explain a very interesting career path for artists    
 To encourage people to buy albums and listening to the radio    
 To explain some of the appeal of buying albums 
 To explain the importance of album covers in helping fans relate to each other     

4. Choose the sentence that does not fit the flow of the passage.
      		     		    	 	     



	Selling music on the Internet has affected not only listeners but artists (A) ___________. For artists who rely primarily on record companies to market their songs and albums, the Internet has brought changes for the worse. Many big name artists believe they have lost money because of the Internet. 
On the positive side, lesser known musicians have more direct access to consumers because of the Internet. (B) _____________, artists no longer have to deal with record companies at all. For some artists, this fact has been quite liberating. They feel freer now to create the music they want to create. Their music is no longer controlled by companies that are more interested in the bottom line than in the music itself. Thus, the Internet has clearly reshaped the music industry for producers and consumers alike. It has opened up a whole new world of music to both artists and listeners.



5. Choose the correct words for (A) and (B).
           (A) 	               (B) 	        
 too    		After all
 also   		Regardless
 as well  		In fact
 as well  		Furthermore

6. What is the main idea of this passage?
 Musicians agree the technology has been bad for business. 
 Technology has changed the way the music industry works.
 Most people are now getting music for free from illegal downloads. 
 Selling music on the Internet has been good for most of the music industry. 




B. Choose the best word or phrase to fill in the blanks.
1.  He can’t hear you; he has his __________ in.
 supply		 earphones 		 device		 industry

2. There are no paper copies of this book; there are only ________ copies online.
 digital 		 direct		 portable		 visible

3. She is one of the best doctors, and everyone __________ her.
 provides		 attaches		 liberates		 admires 

4. I was looking for the most ________ way to get to their house.
 severe		 positive		 portable  		 direct 

5. He ________ the strange looking device to my computer and fixed it.
 swapped		 supplied		 ensured		 attached 

C. Choose the correct form of the word or phrase to fill in the blanks.
1. She is a __________ for a company that makes musical instruments.
 supplier 		 supply		 supplying		 supplied	
 
2. Very well developed countries are considered ___________.
 industrially		 industry		 industrialized 	 industrializing 

3. The chair was large and very nice, so she was able to sit in it quite _____________.	
 comfortable		 uncomfortably	 comfortably  	 discomfort 	

4. Everyone thought it was sweet the way the two babies ________ with each other.
 interacted 		 interact		 interactive		 interactively

5. ___________ of this product think that it is really great.
 Consumers 		 Consumption	  	 Consuming	 	  Consumes








Unit 13 A Closer Look at Acids

A. Read the passages and answer the questions.
	Chemists define acids in several ways.  In the nineteenth century, the Swedish chemist Svante Arrhenius defined an acid as anything that produces hydrogen ions when dissolved in water. Hydrogen ions are positively charged hydrogen atoms.  Normally, hydrogen atoms contain one proton and one electron. The proton has a positive charge, and the electron has a negative charge. When a hydrogen atom loses its electron, it becomes a hydrogen ion.
Arrhenius’s definition was widely accepted, but it __________________.  In 1923, two different chemists independently formulated a new theory defining acids. These chemists were Bronsted and Lowry. Both defined acids as something capable of giving a proton to another molecule.  When hydrogen chloride gas (HCl) is dissolved in water, for example, it acts like an acid. The gas gives hydrogen ions to the molecules of water to produce hydronium ions (H3O+).



1. Where is the best place to insert the sentence below? 
	It applied only to acids formed by dissolving something in water.



     		     		      		

2. Choose the words that best fill the blank.
 was also problematic 
 didn’t make sense
 confused many scientists
 was actually correct



	Today, the Bronsted-Lowry theory of acids is the most widely used. However, some chemists prefer an even broader definition. This broader definition of acids states that all acids can be defined as electron pair acceptors. This means that an acid will readily accept electrons from other atoms or molecules. When this happens, the acid and the donor molecule form a new molecule by sharing the electron pair. This definition includes Bronsted- Lowry acids. It also includes acids that do not contain hydrogen atoms and thus cannot be hydrogen ion donors.
After defining something as an acid, it is possible to compare it with other acids to classify it. Chemists commonly classify acids based on their strength. An acid’s strength is determined by how much the acid ionizes in a solution. When hydrogen chloride, (A) __________, is dissolved in water, it forms hydronium as noted above. It also forms chloride ions. Because every molecule of hydrogen chloride readily separates into ions, hydrochloric acid is considered a strong acid. Acetic acid, on the other hand, forms only a few ions in solution. It is, (B) __________, considered a weak acid.



3. What is NOT true according to the passage?
 Acetic acid is a weak acid.
 Hydrogen chloride can be dissolved in water.
 The Bronsted-Lowry theory is largely ignored today. 
 Acids are classified based on strength.

4. Choose the correct words for (A) and (B).
	(A)		(B)
 for example		therefore 
 therefore		consequently
 however		therefore
 for example		however



	The scale used by chemists  to measure the degree of acidity of a solution is called the pH scale. The values of this scale range from 0 to 14. A solution with a pH value of 0 is extremely acidic. A solution with a pH value of 14 is extremely basic. A neutral solution, such as  pure water, is neither acidic nor basic and has a pH of 7. Common solutions have a wide range of acidity. Milk, for example, has a pH of 6.5, meaning that it is only  slightly acidic. On the other hand, natural acids found in the stomach are highly acidic, with pH values between 1.0 and 2.0. In addition to their pH levels, acids may be further classified as organic or inorganic. Organic acids contain carbon atoms. An example of this kind of acid would be ascorbic acid, or vitamin C. Acetylsalicylic acid, commonly  knew as aspirin, is another organic acid. Amino acids, which contain nitrogen, are also considered organic acids. Amino acids are the building blocks essential for life. 
Other acids, such as sulfuric acid and nitric acid, are inorganic acids. These acids generally do not contain carbon atoms. Such acids are commonly used in things like metals, paints, plastics, and gasoline. Sulfuric acid is used in car batteries, while nitric acid is mostly used in plant foods and explosives.



5. Which word is closer in meaning to “classified”?
 confidential
 secret
 believed
 categorized 

6. Choose the grammatically incorrect one.
    		    		     		  




B. Choose the best word or phrase to fill in the blanks.
1. The movie theater has a _________ range of movies to watch.
 broad 		 capable		 independent		 neutral

2. Having spoken to her only once, he could not yet _________ an opinion on her.
 classify		 dissolve		 formulate 		 appear

3. The scientists worked together to find a(n) _________ to the problem.
 chemist		 solution 		 electron		 ion

4. The election results would _________ the future of the country.
 determine 		 formulate		 appear		 measure

5. Their nation remained  _________ during the conflict, refusing to choose a side.
 organic		 broad		 neutral 		 chemist

C. Choose the correct form of the word or phrase to fill in the blanks.
1. Biology, _________, and physics are three branches of science.
 chemist		 chemically		 chemistry 		 chemical

2. The organizers went to extreme _________ to ensure there could be no cheating this year.
 measure		 measured		 measures 		 measurement

3. She felt a  _________ pain in her leg, and it turned out he had pulled a muscle.
 slightly		 slighted		 slights		 slight 

4. They could not agree on a _________ of the new word.
 definition 		 define		 defining		 defined

5. She only ate  _________ foods and never went to fast food restaurants.
 organic 		 organically		 organics		 organism







Unit 14 Sources and Uses of Fluorine

A. Read the passages and answer the questions.
	(A) Fluorine is found in the mineral fluorite, which is also sometimes called fluorspar or fluor. It is made up most commonly of the elements calcium and fluoride. Steel makers use fluorite during the process of making steel. Ultraviolet radiation causes fluorite crystals to fluoresce, or give off light. This occurs because fluorite atoms absorb energy from ultraviolet radiation. This energy causes electrons inside the atoms to become excited.

(B) Halogens are electronegative, meaning that the atoms which make up halogens can oxidize other chemicals. Oxidation involves the taking of electrons from atoms of other elements. The atom or molecule that acquires the electron then has a negative electrical charge. Fluorine is the strongest oxidizing agent, making it extremely reactive. It combines with other elements to make compounds more easily than any other chemical element.

(C) Fluorine is the ninth chemical element listed on the periodic table. Its chemical symbol is “F.” Fluorine is the lightest element in the group of chemical elements known as halogens or salt producers. Halogens are nonmetals that, when combined with metals, form many of the salts found in the earth’s oceans. They are further characterized by their strong, bad smell. They can also burn a person’s skin. 



1. Which of the following is NOT true according to the passage?
 Flourine is a type of halogen.
 Flourite is used to make steel.
 Flourine is the ninth element on the periodic table. 
 Fluorspar and fluor are other names for fluorine. 

2. What is the correct order of the paragraphs?
 (C) (B) (A) 
 (C) (A) (B)
 (A) (B) (C)
 (A) (C) (B)



	When these electrons fall back into their normal state, the absorbed energy is released as light. The light given off by fluorite minerals, called fluorescence, is essential in the making of fluorescent lighting.
Fluorides are chemical compounds that contain fluorine.  When treated with sulfuric acid, fluorides produce hydrogen fluoride. This is a chemical used in aluminum production. In addition, hydrogen fluoride is used to produce compounds known as chlorofluorocarbons, or CFCs.  They are also used to make insulation foams for furniture and buildings. 
There is a downside, however, to producing CFCs.  When released into the air, CFC molecules rise into the ozone layer of the earth’s upper atmosphere. Ozone is a form of oxygen that protects life on earth from the sun’s harmful ultraviolet rays.  As CFCs travel higher in the atmosphere, the ultraviolet rays cause chlorine atoms to separate from CFC molecules. The free chlorine atoms then react with ozone to create ordinary oxygen. Thus, the overuse of products releasing CFCs may over time create holes in the earth’s ozone layer.



3. Where is the best place to put the sentence below?
	CFC compounds are widely used as refrigerants for air conditioners and refrigerators.



     		     		     		     

4. Which word is closest in meaning to “given off”?
 released 
 gifted
 freed
 founded



	Perhaps the most  commonly recognized compound of fluorine is fluoride. This compound of fluorine helps prevent the decay of the coating on teeth. For this reason, fluoride is often added in small amounts to toothpaste and mouthwash.
A study conducted in the 1930s made the use of fluoride even more widespread. That study showed that people  living in areas where water naturally contained fluoride had fewer cavities. Many cities in the United States thus began to fluoridate, or add fluoride to, their water. As a result of fluoridation, far fewer cases of tooth decay were found. Today,  mostly people living in US cities have access to fluoridated water. There is a problem with adding fluoride to drinking water, however. Additional studies have shown that large amounts of fluoride can be  harmful to a person’s health. Fluoride is thought to cause problems for bones and kidneys.
Because of this, many communities worldwide have refused to add fluoride to their water sources. They believe the possible risks of adding fluoride to water outweigh the benefits.



5. What is the purpose of this passage?
 To question why US cities added fluoride to water
 To promote the fluoridation of drinking water
 To warn against the use of fluoride in toothpaste
 To highlight the benefits and potential risks of fluoride 

6. Which of the following is NOT grammatically correct?
     		     		     		     




B. Choose the best word or phrase to fill in the blanks.
1. His defiant stance became a _________ for the resistance movement,
 agent		 symbol 		 crystal		 harm

2. Her _________ set up an interview with the director of the play.
 insulation		 element		 radiation		 agent 

3. The orangutan was finally _________ back into the wild.
 released 		 harmed		 outweighed		 separated

4. Their warm coats did not provide enough _________ against the cold winds.
 agents		 insulation 		 minerals		 symbols

5. She hardly _________ her son’s face after all those years apart.
 insulated		 separated		 recognized 		 harmed

C. Choose the correct form of the word or phrase to fill in the blanks.
1. This brand of kitchen towel has three times the _________ of the next leading brand.
 absorb		 absorption 		 absorbing		 absorbed

2. The conjoined twins were successfully _________ after a long and complicated operation.
 separate		 separated 		 separation		 separately 

3. He felt that the positives would _________ the negatives in this case.
 outweigh 		 outweighed		 outweighs		 outweighing

4. The goalkeeper was slow to _________, so the opposing team was able to score the winning goal.
 reactor		 reaction		 react 		 reactive

5. The painting was moved into storage as the light was _________ the canvas.
 decay		 decaying 		 decays		 decayed





Unit 15 To Vaccinate or Not to Vaccinate?

A. Read the passages and answer the questions.
	Vaccination is the process of giving weakened or dead bacteria or viruses to a healthy person. This provides immunity to a disease. Englishman Edward Jenner coined the term vaccine in the late eighteenth century. He made the first vaccine from a virus affecting cows called the cowpox virus. The virus provided humans with immunity to smallpox, a deadly disease common in the early twentieth century. Smallpox cases were greatly reduced, thanks to Jenner’s vaccine.
A vaccine makes the body’s immune system start producing antibodies. Antibodies are agents in the blood that protect people from infectious diseases. The body creates antibodies after it is exposed to the actual disease. Most vaccines are injected into the body.  A few, such as the Sabin polio vaccine, are taken orally.
 Vaccines are made of treated viruses or bacteria. Vaccines do not cause disease. However, they are strong enough to start the creation of antibodies. Many vaccines contain certain bacteria or viruses that were killed or made weaker so that they could not harm people. Some use live organisms similar to agents that cause sickness.  These pathogens are weakened, so they will not cause illnesses. Toxoids are another type of vaccine. These are made of poisons produced by disease-causing organisms.  The poisons are chemically treated to be used in vaccines. They help give immunity without causing harmful effects.



1. Which of the following is true about vaccines?
 Edward Jenner made the first vaccine. 
 A vaccine stops the body from producing antibodies.
 Vaccines cause disease.
 Most vaccines are taken orally.

2. What is the best place to put the sentence below?
	Another group of vaccines contains live pathogens.



     		     		     		



	Vaccines have been effective in controlling epidemics. Vaccines are also less expensive than treating the disease. As a result, several governments have adopted laws that call for all citizens to receive certain vaccinations. For example, the government of Great Britain introduced a law in 1853 for nationwide vaccinations. (A) _______ who did not follow the law were fined. In the United States, the Supreme Court ruled that state governments could have people vaccinated for the common good. Today, children in the US must get some vaccinations by law before entering school.
Most medical doctors and health groups agree that the use of vaccines has reduced disease infection rates. However, there are some people who are against vaccines. They question the ethics and safety of giving vaccinations to large groups. 
(B) _______  who support vaccination programs say that vaccines have stopped more deaths than any other medical program. For example, vaccines played an important role in getting rid of smallpox worldwide. The polio virus was almost wiped out due to vaccinations. Avoiding vaccinations can also have dangerous results. The lack of vaccination, for example, led to a recent outbreak of measles in India. Indian parents previously did not allow their children to receive vaccines.



3. Choose the grammatically correct words for (A) and (B).
(A)		  (B)
 These		Them
 Those		Those 
 Those		These
 They			Those

4. What is the purpose of this passage?
 To show how support of vaccination programs led to a dangerous epidemic
 To argue against the use of vaccinations in schools
 To highlight the benefits of vaccines but show that not everyone supports them 
 To question the use of wide-scale vaccination programs


	Those against vaccines argue that doctors have exaggerated the benefits of vaccinating against disease. They claim that the number of deaths from some diseases had fallen before vaccines were introduced to the world.  There is also concern that vaccines may harm the body instead of helping it. Some also believe that vaccines can cause long term problems with the immune system. It is true that some vaccinations are not entirely safe.  Up to ten percent of all people who get a vaccine may not develop immunity. Some of those people might also experience bad reactions to vaccines.
Arguments against using vaccines have greatly increased in recent years.  However, there are some people who are against vaccines. These arguments have strongly affected health programs around the world. Many vaccination programs have slowed or stopped completely.  Serious medical safety concerns have resulted in more careful research into the side effects of vaccines. Even so, vaccines remain the leading way to fight the spread of terrible diseases worldwide.



5. What does “those people” refer to?
 People who receive yearly vaccinations
 People who are opposed to vaccinations
 People who got sick after a vaccination
 People who did not develop an immunity after a vaccination

6. Which of the following sentences does NOT belong?
     		    		      		



B. Choose the best word or phrase to fill in the blanks.
1. The _________ of the nation were asked to remain in their homes during the hurricane.
 viruses		 citizens 		 coins			 pathogens

2. Scientists worked quickly to find a cure for the _________.
 epidemic 		 blood		 type			 organism

3. This new version _________ to have half the calories of the original product.
 weakens		 coins			 claims 		 exposes

4. The _________ has been spread around the office recently.
 policy		 organism		 antibody		 virus 

5. He had to take the medicine orally, as he has a phobia of _________.
 viruses		 injections 		 types		 citizens

C. Choose the correct form of the word or phrase to fill in the blanks.
1. The loss of their star player _________ the soccer team.
 weak			 weakened 		 weakening		 weakness 

2. She asked for diplomatic _________ in return for giving them information on the criminals.
 immune		 immunity 		 immunization	 immunize

3. This new _________ of dance was something very different.
 type 			 typical		 types			 typically

4. The movie _________ some aspects of the battle, but it was mostly truthful.
 exaggerated 		 exaggerate		 exaggerating		 exaggeration

5. She had not _________ a reply from the company, so she called the office.
 receiver		 receiving		 reception		 received 



Unit 16 Herbal Medicine: Past and Present

A. Read the passages and answer the questions.
	(A) Herbalism is the practice of using plants or parts of plants as medicine. It is used to treat illnesses, relieve pain, and maintain health. Herbal medicines can contain many different parts of a plant. Leaves, flowers, stems, berries, and roots of herbs are used. Their power comes from secondary metabolites found in plants. Primary metabolites are responsible for a plant’s growth, development, and reproduction. Secondary metabolites defend the plant against harmful bacteria and predators. These metabolites fight human ailments when eaten.

(B) From written historical records, we know that many different cultures understood the healing power of herbs. The ancient people of Mesopotamia and India wrote texts describing the ways they used plants for medicinal purposes. Castor oil, linseed oil, and white poppies are just a few of the herbal medicines used by these cultures. Herbalists today continue to use many kinds of herbs to treat illness. 

(C) Herbs are still the oldest and most widely valued source for healing, even though some doctors consider herbalism to be an experimental practice. Ancient societies used plants as medicine. Researchers do not have written records of Stone Age people saying this. However, ancient bones appear to confirm that plants were used for healing. Small amounts of secondary metabolites inside the bones of Stone Age skeletons have been found.



1. What is the correct order of the paragraphs?
 (A) (B) (C)
 (C) (B) (A)
 (B) (A) (C)
 (A) (C) (B) 

2. Which of the following is NOT true about herbalism?
 There are written records of Stone Age people writing about herbalism. 
 Ancient cultures used herbs as medicine.
 Roots, stems, and leaves are all used in herbal medicine.
 Secondary metabolites are what give herbal medicine its power.




	Marshmallow root is used to treat sore throats. People take hyacinth to lose weight, and the herb yarrow is used to reduce symptoms of fever.
Most families in Europe during the Middle Ages grew medicinal herbs at home. Families passed down cures and practices from generation to generation.  By the seventeenth century, herbalism had spread throughout Western Europe. In 1649, the English doctor Nicholas Culpeper wrote A Physical Directory. This was one of the first books to offer medical advice for common people. The first directory of herbal medicine was available in the United States in 1820.  The book included a long list of herbal drugs and described their uses.
The use of herbs in the West lost favor, however, in the early twentieth century. As Western medicine grew in the nineteenth century, the use of herbs lost popularity. Western medicine was seen as a science.  The active ingredients in herbal plants were removed to be put into medicines. Drugs containing these active ingredients replaced raw herbal drugs. One example is the opium poppy. This plant was commonly used as a sleep drug in Victorian times. Poppy is now used to make the drugs morphine and codeine.  Now, the use of herbs is _____________________ and unscientific by most people.



3. Where is the best place in the passage to put the sentence below?
	Herbalism has become an alternative form of medicine in the West.



     		    		      		 

4. Choose the words that best fill in the blank.
 thought to be too expensive
 seen as a status symbol
 considered out of the ordinary 
 regarded as unimportant



	Although Western societies have seen the decline of herbal medicine, herbs are still important in traditional medical practices around the world. The World Health Organization believes that (A) [roughly / rough] eighty percent of the world’s population rely on herbal medicines as a source of treatment. Ayurvedic, homeopathic, Asian, and Native American medical practices all include herbalism.
Although they have lost popularity, herbal medicines are still (B) [making / made] and sold through many stores. These herbal medicines are available in many forms. Depending on the plant and the intended use, herbal medicines may be sold as capsules, teas, and oils. Herbalists recommend natural herbal formulas over man-made medical drugs, even plant-based drugs. They believe that the healing power of herbs results from the interaction of all of their ingredients.
Because Western drugs contain only isolated parts of whole herbs, they lack minerals, vitamins, oils, and other ingredients. These ingredients can (C) [be supportive / support] the positive effects of the herb and mask its possible toxicity. Some herbal compounds can easily become toxic when isolated in small doses. When taken in their natural form, however, these compounds become harmful only at very high doses.



5. What is the purpose of this passage?
 To compare western and herbal medicines 
 To explain why Western medicine is superior to herbal medicine
 To show that herbal medicine is dangerous
 To list the nations that use herbal medicine

6. Choose the grammatically correct words for (A), (B), and (C).
(A)	  (B)		   (C)
 Rough	making		be supportive
 Roughly	made		be supportive 
 Rough	making		support
 Roughly	made		support 



B. Choose the best word or phrase to fill in the blanks.
1. It was just a _________ sketch, but it impressed them so much that he was hired immediately.
 rough 		 toxic			 declining		 alternative

2. High street stores have seen a sharp _________ in sales since January.
 purpose		 spread		 decline 		 capsule

3. He did not have all the _________ he needed, so he tried to improvise.
 purposes		 ingredients 		 caves		 symptoms

4. They decided to _________ him from the other students until he had calmed down.
 reproduce		 treat			 isolate 		 spread

5. As news of the video _________ across the Internet, she became an overnight celebrity.
 intended		 spread 		 declined		 included


C. Choose the correct form of the word or phrase to fill in the blanks.
1. The shareholders were looking for _________ sources of funding for their business.
 alternative 		 alternately		 alternating		 alternates

2. The application instructions clearly state that you need to _________ the fee when you apply.
 inclusion		 including		 include 		 inclusive

3. Everyone, _________ the teacher, had to take part in the survey.
 Includes		 including 		 inclusion		 inclusive

4. She found it hard to _________ her form of the previous year, and finished in fourth place.
 reproduce 		 reproduction		 reproductive		 reproducing

5. Roast turkey, presents, and carol singing are all part of a  _________ Christmas.
 tradition		 traditions		 traditionally		  traditional 






Unit 17 Piecing Together the History of Mosaics

A. Read the passages and answer the questions.
	Mosaic is an art form made from piecing small bits of colored materials together to create a larger image. The small bits are called tesserae.  The word tessera is an ancient Greek word meaning large flat stone or tile. Creating a mosaic can be very time-consuming. Attention to detail is important, but the result can be a display of color and texture not found in any other art form.  Many different materials, including tile, glass, stones, and shells, are used to make mosaics.  
Mosaics have been used since ancient times. The remains of ancient mosaics survive in Egypt, Greece, and Italy. Egyptians decorated their furniture and jewelry with tiny colorful stones or glass. The Greeks took the idea to a new level and created entire pictures.  Early works were simplistic. Black and white stones were used to create mosaics. Later, as the art form grew, artists became more precise with their materials. They cut tiny squares from stone and added colored bits of glass. During the fourth century BCE, mosaics decorated the floors, walls, and ceilings in the homes of the wealthy.



1. Which of the following is true about mosaics?
 Mosaics are a modern art form.
 Tessera is an old Greek word meaning small bit of colored material.
 The earliest mosaics were not made in color. 
 In the fourth century BCE, mosaics were in the homes of the rich and poor.

2. Where is the best place to insert the sentence below?
	The created image may be of something or someone, or it might form a pattern.



     		    		      		 



	(A) In contrast to the Eastern-style mosaics that were featured in Christianity, another style of mosaic was being developed independently in the Islamic world. The Moors brought this art form to the Iberian Peninsula, and examples of it can be found in Spain. 

(B) As the Roman Empire grew, the art form became less dynamic. The rise of Christianity, though, would revitalize the mosaic as early Christians decorated their churches and basilicas with glorious mosaics of a variety of Christian symbols. Artists of the Byzantine Empire in the fifth century then created mosaics which are true works of art. A special glass was developed that contained air bubbles and had a rough surface. These two factors created a dramatic effect as light passed through the glass. Gold was also commonly featured in religious mosaics.

(C) Mosaics were further developed during the Roman Empire. Designs became more elaborate and colorful. Glass was used at angles to increase light reflection. The great villas throughout the Roman Empire contained more intricate and detailed mosaics. Images in the mosaics were copied from paintings and drawings, mainly celebrating Roman gods.



3. What is the correct order of the paragraphs?
 (C) (B) (A) 
 (C) (A) (B)
 (A) (B) (C)
 (B) (A) (C)

4. What does “these two factors” refer to?
 The rise of the Roman Empire and Christianity
 Air bubbles and a rough surface in a special new glass 
 Elaborate and colorful designs in the Roman Empire
 Mosaics that are a work of art, and a new type of glass



	Islam does not permit idol worship and never uses the human form in religious art. (A) _________, a very different style of mosaic developed in the Islamic world. This style is the kind most commonly associated with mosaics today. Islamic mosaics feature amazing patterns that are rich in color and detail. The designs are highly mathematical. Each half of the mosaic is a mirror image of the other. The tesserae are usually ceramic and are fit together to make sure that the entire surface is covered, leaving no gaps.
There was a decline in mosaics during the Middle Ages. (B) _________, interest in the technique was renewed in the nineteenth century. Britain became wealthier during the Victorian age. As a result, there was an increased interest in art and decorative goods. Also, after the Industrial Revolution and mass production came along, tiles could be produced quite cheaply. Decorating floors of public buildings and homes with mosaics became popular. 
Early in the twentieth century, the artists of the Art Nouveau movement reinvented the mosaic. A new technique used broken pieces of ceramic, glass, or other materials to create collages, and the results were amazing. Mosaics today, however, are rarely considered along with higher forms of art. Instead, they are seen more as crafts. This is probably due in part to their functional nature as decoration for floors and walls.



5.  Choose the correct words for (A) and (B).
(A)	    (B)
 Thus		Instead
 However	Therefore
 Thus		However 
 Therefore	On the other hand 

6. What is the purpose of this passage?
 To show the early history of the mosaic
 To explain how mosaics have changed over time 
 To suggest that mosaics are a lower form of art
 To describe the process of making a mosaic in detail



B. Choose the best word or phrase to fill in the blanks.
1. The new principal did not _________ students to short-sleeved shirts in summer.
 decorate		 feature		 permit 		 reinvent

2. He got his mother a(n) _________ mug for her birthday.
 glorious		 entire		 simplistic		 ceramic 

3. She was a(n) _________ for millions of young women around the globe.
 idol			 collage		 texture		 tile

4. The performer tried to _________ himself on his new album, his first in ten years.
 permit		 increase		 reinvent 		 decorate

5. They planned a(n) _________ surprise party for their parents’ anniversary.
 intricate		 elaborate 		 revitalized		 textured


C. Choose the correct form of the word or phrase to fill in the blanks.
1. Next week, the country will celebrate two hundred years of _________.
 independent		 independence 	 independently	 independents

2. The church had to turn away some _________ because there was no room for them.
 worships		 worshipping		 worshippers		 worshipped

3. He spent the weekend _________ the spare room with some friends.
 decorate		 decorator		 decoration		 decorating 

4. He was proud of his _________, but could not find a company to buy it.
 invent		 invention 		 inventor		 reinvent

5. She felt _________ after a short rest and was ready to go back to work.
 revitalize		 revitalizing		 revitalization		 revitalized 






Unit 18 The Making of Beautiful Batiks

A. Read the passages and answer the questions.
	The art of dyeing fabrics can be complex and time-consuming. One type of dyeing requiring a high level of skill is the ancient art of batik. Batik is an Indonesian word that means “wax-written.” The term is used today to describe a fascinating dyeing practice that uses wax to dye fabrics.
Batiks contain detailed designs and are done with brilliant colors.  Though the origins of batik are unknown, by the thirteenth century it was an important art form in Java. Batik requires a great deal of patience and attention to detail.  The process of batik practice is believed to help the artist develop spiritual discipline. The design is said to leave an impression on the fabric as well as on the soul of the artist who makes the image.
There are many stages with this method of dyeing. The batik artist first stretches the fabric over a wood frame before beginning the detailed work.  After the first color is dyed onto the fabric, additional colors can be added by repeating the process. A device called a canting is used to add hot dye-resistant wax to areas of the fabric that the artist wishes to protect from dyeing.  The fabric absorbs the wax, which then cools and hardens. The artist must work quickly in a steady manner to make sure that the wax application is even. 



1. Choose the sentence that does NOT belong.
     		    		    	  	 

2. What would be an appropriate title for this passage?
 The Origins of Batik
 Wax Written: The Art of Batik 
 Why Is Batik Important?
 An Interview with a Batik Artist



	Although it is possible to draw a design directly onto the fabric with hot wax, careful batik artists first draw their designs on the fabric to avoid errors. These designs may be traced from patterns or drawn freehand. After gaining plenty of experience, the artist may become skilled enough to draw intricate designs directly onto the fabric.
A third, more simplistic option is also readily available to batik artists. Rather than applying wax to the fabric freehand or tracing a pattern previously drawn onto the fabric in wax, the artist can use a stamp. Batik stamps are known as caps. Caps are made out of copper and have impressions of commonly used designs on them, so the artist simply fills the cap with hot wax and stamps the impression onto the fabric. After one side of the fabric is finished, it is turned over, and wax is applied to the other side. This ensures that the wax is absorbed by the fabric. This step is important in order to prevent the dye from reaching the other side of the fabric. If the dye can access the fabric from the other side, the whole process ________________. Young girls will often learn the craft by copying their mothers’ work on the reverse side of the fabric. Finally, before dyeing begins, the waxed fabric must be washed with soap and water.



3. Which of the following is NOT true according to the passage?
 Careful batik artists draw designs directly onto the fabric using hot wax. 
 Stamps, known as caps, can be used to apply wax to the fabric.
 Artists using caps print on both sides of the fabric.
 Young girls often copy their mother’s work to learn the art of batik.

4. Choose the words that best fit in the blank.
 is considered a success
 must be forgotten
 will be ruined 
 gets more expensive



	The next step is to (A) [dye / dyed] the fabric.  Today, dyeing usually involves using synthetic dyes, but traditionally dyes were produced from natural sources such as plants and chicken blood. If the artist chooses to use more than two colors, a small brush or similar tool is used to paint dyed patterns on different parts of the fabric. Then more wax is (B) [applying / applied] to these patterns to protect the colors.  The whole fabric is then ready to be dipped in a vat full of dye, removed, and hung to dry.  The whole procedure can be repeated any number of times, depending on how many colors are to appear in the final product.
After the first dyeing, the artist may wish to remove some of the wax by scraping it off or remove all of it by boiling it out.  Then the wax must be reapplied to (C) [carefully / careful] protect the areas that have now been dyed before proceeding to add a new color to the fabric. The final result is a colorful, intricate design with the marks of a hand craft.



5. Choose the grammatically correct words for (A), (B), and (C).
(A)		   (B)		   (C)
 dye		applying	carefully
 dyed		applying	careful
 dye		applied		carefully 
 dye		applied		careful

6. Where is the best place to put the sentence below?
	After the fabric is dry, the batik artist may still have quite a bit of work cut out for him or herself.



     		    		     	 	 




B. Choose the best word or phrase to fill in the blanks.
1. The president was successfully elected to a second _________.
 term 			 pattern		 copper		 vat

2. They _________ twenty more signatures on their petition before the council will look at it.
 achieve		 require 		 remove		 ruin

3. The new piece of equipment was very _________ and came with a large user manual.
 copper		 synthetic		 complex 		 ruined

4. He was allergic to _________ fabrics, so he only wore natural fibers.
 complex		 synthetic 		 craft			 tracing

5. The book does not go into great _________ about her time spend overseas.
 discipline		 pattern		 manner		 detail 


C. Choose the correct form of the word or phrase to fill in the blanks.
1. They found _________ elements of a dangerous chemical in some cans.
 trace 		 traces		 traced		 tracing

2. As a child, she fell off her bike and _________ her knee quite badly.
 scrape		 scrapes		 scraped 		 scraping

3. He did not really have an _________, so he decided to do as they asked.
 option 		 optioning		 optional		 optionally

4. The security guards were asked to _________ him from the premises.
 removed		 removable		 remove 		 removal

5. The karate master was strong and powerful but also graceful and _________.
 discipline		 disciplining		 disciplines		 disciplined 






Unit 19 Standing Up for Animal Rights

A. Read the passages and answer the questions.
	The first historical supporter of animal rights is thought to be the ancient Greek thinker Pythagoras. Based on his belief that humans can return after death in animal bodies, he argued for treating animals the same as humans.   Through the ages, cultures and governments have held varying views on the matter. In some cultures, only certain animals are granted special rights above other animals. Other cultures seek to care for and protect all animals equally.
Animal rights in Western society became an issue of public debate in the 1800s.  This was due in part to the influence of a growing moral philosophy focused on minimizing suffering and unhappiness in the world.  The world’s first organization for animal rights was created in England in 1824.  Their main goal was to reduce unnecessary animal cruelty, particularly to cattle. They achieved this by having laws passed and hiring inspectors to uncover violations. Similar groups soon sprang up across the rest of Europe.



1. What is true according to the passage?
 Pythagoras believed that humans could become animals after death. 
 Cultures and governments have always had the same opinion on animal rights.
 The first organization for animal rights was created in 1800.
 Greece was the first country to have an animal rights organization.

2. Where is the best place to put the sentence below?
	This group was led by several members of Parliament.



     		    		      		 




	The first such American organization was created near the end of the Civil War. It was founded in New York City in 1866 by Henry Bergh. Its primary focus was on preventing cruelty to domestic animals such as pets and horses. From the late 1800s until the 1970s, a wide range of laws were passed aimed at preventing both animal cruelty and experimentation on animals. Then in the 1970s, the modern animal rights movement is considered to have begun. It was a direct result of the views of ethics philosophers around this time. In this regard, the animal rights movement is quite different than other modern social movements. No other movement has come as a direct result of developments in academic philosophy.
The person generally regarded as the founder of the movement is an Australian philosopher, Peter Singer. His book Animal Liberation is known as the bible of the animal rights movement. In this book, Singer argues that an animal’s ability to reason is not a factor in their consideration for rights. Instead, the fact that they suffer is reason to take action. In addition to writing about animal rights, Singer also founded the Great Ape Project. This group is currently pushing the United Nations to take action in protecting the rights of the great apes.



3. What is the purpose of this paragraph?
 To describe the rise of the first ever animal rights organization
 To explain how the modern animals rights movement started 
 To list numerous animal rights organizations
 To highlight the work done by animal rights organizations

4. Which word is closest in meaning to “founded”?
 discovered
 finished
 created 
 uncovered



	(A) Today, the issue of animal rights certainly appears to concern more people than before. This can be seen through certain practices that are becoming widespread. For example, more people today are willing to pay extra for things like eggs  produced by free-range farms. However, society is still not in complete agreement on the issue. Many argue that protection of human rights is an issue worthy of more attention at present than animal rights.
 
(B) The  best known animal rights organization today is PETA, People for the Ethical Treatment of Animals. This group was founded in the United States in 1980. It  rose to early fame when co-founder Alex Pacheco went to work in a primate research lab. He was not really there to help with the research. He was there to gather evidence of animal cruelty. His discoveries resulted in the arrest of the head researcher and the establishment of stronger animal rights laws.

(C) PETA has since become the leader in the animal rights movement worldwide. It continues to seek action against practices such as factory farming, sport hunting, and fur trading. PETA has  been criticized at some of its actions, though. In particular, it has been found to have ties with certain radical groups. One such group is the Animal Liberation Front (ALF), which is known to use violence as means to protect animal rights.



5. What is the correct order of the paragraphs?
 (B) (A) (C)
 (C) (B) (A)
 (B) (C) (A) 
 (A) (C) (B)

6. Which of the following is grammatically incorrect?
     		   	 	     		  




B. Choose the best word or phrase to fill in the blanks.
1. The government encouraged shoppers to buy _________ instead of imported products.
 radical		 domestic 		 primate		 moral

2. He successfully argued that that newspaper article was a(n) _________ of his privacy.
 ethics		 inspector		 violation 		 liberation

3. The organization, _________ over two hundred years ago, was in financial trouble.
 founded 		 debated		 arrested		 liberated

4. The police did not have enough _________ to charge her with the crime.
 evidence 		 cruelty		 liberation		 movement

5. His ideas were _________, but the assembled listeners agreed with a lot of his arguments.
 cultural		 radical 		 domestic		 free-range


C. Choose the correct form of the word or phrase to fill in the blanks.
1. The televised _________ was the first of three leading up to the election in November.
 debates		 debated		 debating 		 debate 

2. During the riots that followed, four members of the public were _________.
 arrest		 arresting		 arrested 		 arrests

3. The customs officer _________ all of their bags before they were allowed to board.
 inspector		 inspected 		 inspect		 inspection

4. The teacher of their _________ class was going to be a guest speaker at the rally.
 ethics 		 ethical		 ethically		 ethic

5. After sales began to slow, the company began _________ with a new recipe.
 experimenting 	 experimentally	 experimental		 experiment



Unit 20 Looking at Healthcare Systems

A. Read the passages and answer the questions.
	The rising costs of healthcare are a continuing concern for governments and their citizens.  There are three options that governments may choose to follow. Each has certain advantages and disadvantages. The first option is subsidized healthcare. Another option is universal social healthcare. The third option is a system of only private healthcare facilities.  One advantage for doctors is that they can specialize in a medical field they prefer. In this third system, individuals cover all their own healthcare costs.
Subsidized healthcare is health insurance paid for in part by the government. This type of program is funded by taxes. These programs can be subsidized on a national or local level. One advantage of this system is that out-of-pocket healthcare expenses are far less for the individual. However, the individual must still pay some of the medical health care costs.  A disadvantage is that extremely poor citizens still must pay something. This may prevent medical treatment in some cases for the poor. Thailand and Israel are examples of countries with subsidized healthcare programs.
Universal social healthcare is a government-funded healthcare system. Nations with this system make all citizens pay for and use the system.  Universal health care systems are paid for through taxes. In such a system, payments, treatment options, and regulation of doctors and hospitals are controlled by the government. In such countries, private healthcare may still be available, but all these costs fall on the individual.



1. Which for the following is NOT true according to the passage?
 There are three kinds of healthcare systems.
 Subsidized and universal social healthcare are both funded by taxes.
 Thailand and Israel both have universal social healthcare. 
 In subsidized healthcare, even the very poor must pay for treatment.

2. Which of the following sentences does NOT belong?
     		    		     	 	


	There are also countries in which private healthcare companies are not allowed to compete with the public healthcare system. In these cases, the government holds a monopoly on healthcare services. One advantage of this system is that everyone has access to medical care. (A) _________, the wait to receive medical care can be quite long. Countries with universal social healthcare plans include Germany, France, Spain, Canada, and Great Britain.
The third kind of healthcare system is private healthcare. In this system, privately owned companies provide medical services and insurance. It is up to the individual to cover all expenses. An advantage of this system is that it encourages competition, lower prices, and efficiency among doctors and hospitals. One disadvantage is that the poor may not have the ability to pay for any medical care or insurance at all. (B) _________, in cases where a patient needs expensive medical care, even some middle-income people might be unable to pay. The United States is an example of a country with a primarily private healthcare system.



3. Choose the correct words for (A) and (B).
(A)			    (B)
 However			Also 
 Nevertheless			On the other hand
 However			In contrast
 In the meantime		Also

4. Which of the following is true about private healthcare?
 Everyone has access to this form of healthcare.
 It encourages higher prices among doctors and hospitals.
 The United Kingdom has this form of healthcare.
 The individual must pay for all medical expenses. 


	It is important to note that many countries use a combination of healthcare systems. While a particular country may claim to provide universal social healthcare, it actually may allow other options for citizens.  For example, Portugal has a social healthcare system in the form of the National Health Service. This service provides universal coverage for the country’s citizens. It also provides special healthcare benefits to professionals in such areas as education. However, Portugal’s healthcare system allows people the option of choosing private healthcare.  Of course, services under the national healthcare program are paid for by the country’s taxes. The individual must pay for private healthcare services through personal insurance or his or her own money.
Mixing the options of healthcare systems adds benefits of different systems while balancing disadvantages. Consider, for example, a country with both national subsidized healthcare and private healthcare.  Thus, the poor have access to any medical care they may need.  On the other hand, citizens who can afford private healthcare can choose the doctors and treatment options they prefer. The United States has primarily a private healthcare system, but it has a subsidized program as well. The subsidized program pays a portion of health care costs for at-risk groups, such as the elderly and the poor.



5. Where is the best place to insert the sentence below?
	The government may support all health expenses of citizens with incomes under a certain level.



    		   		       		

6. What is the purpose of this passage?
 To highlight the benefits of using a combination of healthcare systems 
 To argue against any form of healthcare
 To show why Portugal has a flawed healthcare system
 To explain the history of healthcare systems in the United States




B. Choose the best word or phrase to fill in the blanks.
1. Despite being a well-known celebrity, he still felt like a regular member of the __________.
 public 		 monopoly		 portion		 regulation

2. Employees were forbidden from going on __________ networking sites like MyFace.
 public		 elderly		 individual		 social 

3. The __________ will take up to three days to appear in your bank account.
 facilities		 funds 		 particulars		 advantages

4. One __________ of working from home is not having to commute to work every day.
 balance 		 advantage 		 fund			 facility

5. The new sports __________ at the school were now up to standard with other local schools.
 facilities 		 income		 portions		 monopolies


C. Choose the correct form of the word or phrase to fill in the blanks.
1. The __________ parks were in danger of being destroyed to make way for the new apartments.
 local 		 locals		 locality		 locale

2. Being a young male, it was difficult for him to find car __________ for a good price.
 insuring		 insurance 		 insured		 insurer 

3. She wanted a laptop for her birthday, but the ones in the store were all too __________.
 expense		 expensive 		 expenses		 expend

4. The government would soon stop __________ part of his healthcare.
 subsidize		 subsidiary		 subsidized		 subsidizing 

5. The new mid-range cars were powerful but still __________ for the average driver.
 afford		 afforded		 affordable 		 affordably



Unit 21 One Woman’s Makeover of the Cosmetics Industry

A. Read the passages and answer the questions.
	(A) In 1930, she married Joseph Lauder and gave birth to a son a few years later. She did not give up her passion, however. Estee Lauder continued to develop her cosmetics. She also began a selling campaign for her products in Manhattan. She found a beauty salon owner who allowed her to give free makeup demonstrations to the salon’s clientele.

(B) Salespeople offer free makeup demonstrations. They give out free samples. They also give gifts to customers who buy their products. It was Estee Lauder who first came up with these ideas. Estee Mentzer became involved in cosmetics through her uncle, who was a chemist. Her uncle created a skin cream with which he let his niece experiment. Mentzer spent her teenage years playing with the formula and trying new variations on herself. She also tried her experiments on her family and her friends in their middle-class Queens, New York, home.

(C) The huge success of Estee Lauder rests on two main factors. Of course the company makes excellent cosmetics, but its founder also had a creative marketing style. Estee Lauder knew her clientele, and she knew how to sell her products to that population. Today, Lauder’s marketing practices are commonly found at cosmetic counters. 



1. What is the correct order of the paragraphs?
 (C) (B) (A) 
 (C) (A) (B)
 (B) (C) (A)
 (B) (A) (C)

2. Which of the following is true of Estee Lauder according to the passage?
 Estee Lauder’s marketing practices are uncommon today.
 She was born in 1930.
 Her uncle helped her to become involved in cosmetics. 
 She created a skin cream which her uncle experimented with.



	Thus, Lauder began (A) [giving / given] women free makeovers while they had their hair done. Most became regular, loyal buyers of Estée Lauder’s line of cosmetics. In 1939, Lauder divorced her husband. She later explained that she (B) [regrets / regretted] getting married at such a young age. As a single woman, she (C) [moves / moved] to Miami to sell her products to wealthy vacationers. Again, Lauder worked from what she knew best. She knew how to market to women. In Miami, Lauder started a campaign called “Tell a Woman.”
The marketing campaign encouraged her Miami customers to tell a friend about her products.  Because these women were on vacation at the time, they ended up telling friends all over the United States. In this way, Lauder built up a national reputation without an expensive marketing campaign.  The idea worked beautifully.  In 1946, Estée Lauder Companies, Inc. was founded. Together, the Lauders bought a restaurant and changed it into a factory to produce their cosmetics.  They were the only two employees of the company. Together they cooked, bottled, and distributed the creams. 



3. Choose the grammatically correct words.
(A)	    (B)		   (C)
 giving	regretted	moves
 given	regretted	moved
 giving	regretted	moved 
 given	regrets		moves

4. Where is the best place to insert the sentence below?
	After three years, Estée remarried her ex-husband, and they went into business together.



     		       		       		



	Joseph was in charge of managing the money. Estee continued to come up with marketing campaigns. She realized that in order to turn Estee Lauder into a major company, they would need a bigger distributor. She began marketing her products to major department stores. Finally, in 1948, she landed counter space with the department store chain Saks Fifth Avenue. This was only the beginning. Other major department stores picked up her cosmetics line soon after. Estee Lauder then became an exclusive line because it was only available at the top department stores.
For the first time, Estee Lauder was not responsible for selling her own products. Instead, she managed a sales team. However, she personally trained every person who would be selling her products with her proven sales method. Whenever a new Estee Lauder display opened, she traveled to the opening and trained the sales force. It was during this time that Estee Lauder began a new campaign. This campaign gave customers a gift when they bought a product. She also began a mail campaign with free samples. These strategies attracted a huge clientele and put Estee Lauder way ahead of the competition. Of course, it did not take long for the competition to follow suit.



5. What is the purpose of this passage?
 To show how Estee Lauder’s business became as successful as it is today 
 To highlight Estee’s personal relationships
 To question her use of giving free gifts to customers
 To describe Estee’s younger life

6. Which of the following is closest in meaning to “follow suit”?
 To dress the same way
 To walk behind
 To do the same thing 
 To watch




B. Choose the best word or phrase to fill in the blanks.
1. After fifty years of marriage, the couple decided to _________.
 attract		 distribute		 regret		 divorce 

2. As a reward for their hard work that year, he gave all _________ an extra day off at Christmas.
 formulas		 makeovers		 employees 		 reputations

3. She did not _________ leaving the TV series, even though she was never as successful again.
 regret 		 divorce		 distribute		 market

4. Many stores play loud music onto the street in order to _________ customers.
 sample		 attract 		 divorce		 regret

5. There is a new job opportunity in the _________ department.
 single		 exclusive		 expensive		 marketing 


C. Choose the correct form of the word or phrase to fill in the blanks.
1. The scientists spent weeks perfecting the _________.
 formula 		 formulaic		 formulas		 formulate

2. Although she wouldn’t admit it, his cruel words had lowered her _________.
 confident		 confidence 		 confidant 		 confide

3. David and Sarah wanted to come to the event, but it was for _________ only.
 singularly		 singles 		 singled		 singular

4. The company was looking for a new _________ in the south-east.
 distribute		 distribution		 distributor  		 distributes

5. After two long months of _________, it was finally time for the nation to take to the polls.
 campaigner		 campaigned		 campaigning 	 campaign









Unit 22 Richard Branson and the Virgin Brand

A. Read the passages and answer the questions.
	Richard Branson’s life story is an inspiring rags-to-riches tale. This self-made billionaire decided at age sixteen to drop out of school. He had never done very well in school, and he thought the atmosphere was too strict. Young Branson was interested in adventure and trying new things. He wanted to start some kind of new business. Upon dropping out of school, he moved to London and went to work.
Branson’s first business venture was to start a magazine called Student in 1966.  The magazine became quite successful. As editor, Branson had the chance to interview such celebrities as John Lennon and Vanessa Redgrave.  In 1970, Branson sold Student and became involved in the record industry.  Branson’s personality lends itself well to business.  He started by traveling to France and buying discounted records. He then brought back the records to England to sell out of the back of his car to record stores.  He later converted this business into a mail-order company called Virgin Mail. He eventually opened a record shop, which quickly grew into fourteen shops.



1. Choose the sentence that does NOT belong.
     		      		        		

2. Which of the following is NOT true about Richard Branson?
 He did not finish school.
 His first business project was a magazine called Student.
 Branson moved to France after dropping out of school. 
 He interviewed celebrities such as John Lennon.




	Branson’s next venture involved buying a castle. Part of this was developed into a large recording studio. It was at this studio that his friend Mike Oldfield cut a huge hit album. This was the birth of Virgin Records. As an independent record label, Virgin earned a reputation for taking chances on controversial artists. The main record companies were not interested in many of these artists because of their controversial lyrics. Branson’s decision to sign one particular band turned out to be ______________________. The band got a great deal of publicity when their song “God Save the Queen” was banned. The group then chose to give a free concert on the Thames River. Both sales of the band’s record and recognition for Virgin Records soared. The label went on to sign such stars as the Rolling Stones and Culture Club. Then Branson took the label to the United States with Virgin American.
Today, Virgin is known for a lot more than just music.  At one time, the Virgin name was attached to a film and video distribution company. It was also known as a computer games maker. Virgin even entered the clothing and soft drink industries. It is now  connected with an international airline. These were all independent ventures, but Branson oversaw their startups. Today, Virgin  has changed from a company to a brand name. Branson continues to hold the rights to the brand name Virgin. He also holds some controlling interest in all Virgin ventures. However, the companies  who use the name are essentially independent from each other.



3. Choose the words that best fill in the blank.
 a brilliant business move 
 the end of his career
 a bad decision
 a controversial decision

4. Which of the following is grammatically incorrect?
        		   		 		  



	Branson’s personality lends itself well to business.  He is adventurous and not afraid to take risks. He showed this by signing controversial artists to Virgin Records.  Branson also cares about more than just the bottom line.  This helps explain why he keeps all of the companies small.  When big companies hit hard times, they will lay off employees. Branson instead asks some of his employees to take some time off. Maybe that time off is a few months, or maybe it is a year. In either case, the employee’s job is still there when he or she returns. In addition, Branson prefers to keep business informal.  He never holds meetings. Instead, he will simply call on the phone when necessary. As he puts it, it is simply more fun to work for a small company.



5. Where is the best place to put the sentence below?
	He wants all of the employees to be happy and for their jobs to be secure.



     		   		       		 

6. What is the purpose of this passage?
 To show how Richard Branson’s personality has made him successful 
 To argue that smaller companies are better than larger ones
 To highlight the flaws in Branson’s business philosophy
 To explain the beginning of Branson’s successes



B. Choose the best word or phrase to fill in the blanks.
1. The board of directors hoped that profits would _________ after the merger.
 soar 			 decide		 risk			 lay off

2. His _________ really took off with the release of his second album.
 personality		 advice		 career 		 brand

3. The club agreed to a five-year _________ with the player’s agent.
 brand		 deal	 		 studio		 career

4. It is the most popular _________ of kitchen towel, found in over half of all homes.
 venture		 studio		 brand 		 decision

5. This latest incident would surely be bad _________, especially with his new movie out soon.
 publicity 		 venture		 personality		 celebrity


C. Choose the correct form of the word or phrase to fill in the blanks.
1. She wrote the music, and her writing partner wrote the _________.
 lyrics 		 lyricist		 lyrical		 lyric

2. Rachel loved taking chances, but even she thought that this was too _________.
 risk			 risking		 risks			 risky 

3. He waited patiently in the hallway while they made their _________.
 decision 		 decided		 decide		 decisive

4. Though he wanted to take her _________, he was still not sure.
 advisor		 advise		 advice 		 advising

5. The movie had only been out on DVD for two months, and it was already heavily _________.
 discounted 		 discounts		 discount		 discounting




Unit 23	Trends in Examining the Mind

A. Read the passages and answer the questions.
	Although psychology was not recognized as its own field until the late nineteenth century, its early roots go back to the ancient Greeks. Plato and Aristotle, for example, were philosophers concerned with the nature of the human mind. In the seventeenth century, René Descartes described the mind and body as two aspects that interact to create human experience. This concept is at the root of modern psychology.
The term psychiatry was first used by a German doctor, Johann Reil, in 1808.  However, psychiatry as a field did not become popular until Sigmund Freud came along. Freud proposed a new theory of personality that focused on the role of the unconscious.  Before that time, psychologists were concerned primarily with the conscious aspects of the mind. These aspects include perceptions, thoughts, memories, and daydreams of which a person is aware.  Freud’s new theory came out of his work with various patients who were suffering from hysteria. Freud believed that unconscious drives were important in shaping the personality. The psychiatrist’s purpose, as Freud saw it, was to help patients become aware of unconscious patterns.  Ivan Pavlov conducted research with dogs that led him to describe the process of classical conditioning. He believed such patterns caused problems with healthy functioning. Freud called his method of treatment “psychoanalysis.”



1. All of the following are true about Sigmund Freud EXCEPT:
 He was the first person to popularize the field of psychiatry.
 Freud’s theory of personality focused on the unconscious mind. 
 He called his method of treatment “psychoanalysis.
 Freud first used the term psychiatry in 1808. 

2. Choose the sentence that does not belong.
     		   		 		 




	In the early twentieth century, the school of psychology known as behaviorism appeared. Behaviorists (A) [take / took] a position that was opposite to psychoanalysis. Freud and others had used concepts such as the id, ego, and superego to explain the way the human mind worked. Behaviorists, on the other hand, rejected the importance of both the conscious and the unconscious mind. Rather, they took a more scientific approach focused on observable behaviors. Ivan Pavlov conducted research with dogs that led him to (B) [describe / described] the process of classical conditioning. Out of this school of psychology, approaches to behavior modification were developed. Behavior modification was (C) [wider / widely] used by therapists and educators for decades.
In reaction to both psychoanalysis and behaviorism, humanistic psychology appeared in the last half of the twentieth century. Carl Rogers is often seen as the father of this school of thought. It is referred to as the “third force” in psychology. Rogers saw the development of self-concept as essential for a healthy human being. He described unconditional positive regard by the people in one’s environment as necessary for a healthy self-concept. Rogers developed an approach to psychotherapy known as person-centered therapy. This approach focused on the client’s power of self-determination. 



3. What does ‘this school of psychology’ refer to?
 psychiatry
 humanistic psychology
 behaviorism 
 psychoanalysis

4. Choose the grammatically correct words for (A), (B), and (C).
    (A)		    (B)		    (C)
 took		describe	widely 
 took		described	widely
 take		described	wide
 take		describe	widely



	In addition to the work of Rogers, humanistic therapy has followed several approaches.  Abraham Maslow, for example, stressed a developmental process he described as a hierarchy of needs. People, he claimed, had to satisfy basic needs for safety and security before they could move on to higher-level needs for self-actualization.  Other psychologists, such as Rollo May, focused on a “whole” view of the client.  Gestalt therapy, as developed by Fritz Perls, encouraged clients to experience their emotions and behaviors in the present moment.  For example, Perls helped people to become aware of how their mind created projections. When they saw this clearly, they could become free of their patterns.
Most therapists at the beginning of the twenty-first century do not follow a single school of psychology. They draw on concepts and practices from a range of theories and schools. For example, a therapist might use behavior modification with a client who is afraid of flying. The same therapist might apply Freud’s concepts of the id, ego, and superego while working with an emotionally disturbed client. He or she might also use a person-centered approach with a couple that has problems in their marriage.



5. Where is the best place to put the sentence below?
	A person must be understood by considering all his or her relationships.



     		   		       		

6. What would be a good title for this passage?
 A Single School of Psychology
 The Id, Ego, And Superego
 Becoming Free of Your Patterns
 Many Schools of Thought: Psychology Today 




B. Choose the best word or phrase to fill in the blanks.
1. He did not know how to use the mute _________ on his new smartphone.
 emotion		 perception		 function 		 approach

2. She asked the clerk to _________ her case to the manager.
 reject		 refer 		 conduct		 suffer

3. The campaign manager decided to try a new _________ to win approval in the province.
 approach 		 therapy		 hysteria		 psychiatry

4. He worried that the company would _________ his application.
 suffer		 regard		 reject 		 disturb

5. They put a sign on the door to ensure that no one would _________ the meeting.
 disturb 		 modify		 refer			 suffer


C. Choose the correct form of the word or phrase to fill in the blanks.
1. She had been _________ with migraines for most of her adult life.
 suffering 		 suffer		 sufferer		 suffered

2. The company _________ the terms of the agreement after the trial period ended.
 modifier		 modify		 modification		 modified 

3. The documentary aimed to change the public’s _________ of disability.
 perceive		 perception 		 perceivable		 perceivably

4. It was the last time they would be together as a group, and it was an _________ time.
 emotionally		 emotions		 emote 		 emotional 

5. The bus _________ does not allow passengers to board the bus without a ticket.
 conduct		 conducted		 conductor 		 conducting






Unit 24	Remember This

A. Read the passages and answer the questions.
	(A) There are three primary types of memory. These are sensory memory, short-term memory, and long-term memory. Sensory memory takes place very quickly when a person looks at an object and recognizes it. The object can then be recalled.

(B) Experiments suggest that a person is able to recall about twelve objects at a time through sensory memory. The mind has another way to support sensory memory, however. People have an additional type of visual memory called iconic memory. This type of memory works like a camera taking a picture. It fills in the visual details not provided by the quick information collected by sensory memory.

(C) After information is obtained through sensory memory, it can be transferred to shortterm memory. Experiments have been conducted in which letters or numbers are presented to a subject in sequence. Results suggest most people can recall about four or five objects in sequence with shortterm memory. The term working memory is used to refer to practical uses of short-term memory for various mental tasks. Short-term memory in general is defined in terms of how long memories are held. Working memory is defined more in terms of purpose. The length of time memories are held in long-term memory can range from a few seconds to many years.



1. What is the correct order of the paragraphs?
 (A) (C) (B)
 (A) (B) (C) 
 (B) (C) (A)
 (C) (B) (A)

2. According to the passage, what is true about memory?
 Memory is obtained through shortterm memory and transferred to sensory memory.
 Iconic memory works like a camera taking a picture. 
 Sensory, iconic, and long-term are the three primary types of memory.
 Long-term memories are held for years, not seconds.



	Long-term memory is influenced by the natural  forgetting process. Therefore, a person may need to practice linking information in meaningful ways in order to make a memory last. Short-term memory can move into long-term memory by a process called long-term potentiation. This involves changes in the structure of neurons. Sleep  can also assist in securing long-term memories from short-term ones. For this reason, a good night’s rest can be useful for students the night before taking an exam.
A variety of factors are known to impair memory. Alzheimer’s disease is the most commonly recognized problem of this type.  It is characterized by a progressive loss of mental functioning. Over time, it results in an impaired ability to carry out daily living activities. Drugs and some types of medicine can also impair memory. In such cases, however, the loss is generally temporary. The ability to recall long-term memories and the  ability for use one’s working memory have both been found to ________________. Studies show that episodic memory, or the recalling of events, is more likely to be impaired as a person ages than is procedural memory. The memory of vocabulary can actually improve with age if a person reads regularly.



3. Choose the words that best fit in the blank.
 improve with medicine use
 stay the same until death
 get better the older we are
 decline naturally with age 

4. Which of the following is NOT grammatically accurate?
     		   		       		  




	Because the aging population is increasing, psychologists continue to search for techniques to improve the memory of aging clients.  One common technique is the use of mnemonic devices. This involves creating associations between the information to be remembered and other more familiar information.  Simple mnemonic devices are often used by students to recall information for school tests.  Results suggest most people can recall about four or five objects in sequence with shortterm memory. These methods are based on the idea that the mind is more likely to remember meaningful information than meaningless information.
Other than using techniques to improve memory, regular mental exercise is important.  In the same way physical exercise keeps the body fit, mental exercise can also be helpful in maintaining memory function. For example, simple puzzles are excellent exercise for one’s mind. More recently, a variety of computer exercises have been developed that claim to improve memory. Such programs have become popular among the elderly. However, further research is needed to find out if they are truly effective. Not all memory-enhancing suggestions are purely mental in nature. Diet has also been suggested as a means to improve memory. A diet rich in foods like fruits and vegetables is recommended to keep one’s body and mind healthy.



5. Which of the following sentences does NOT belong?
     		   		       		

6. What is the purpose of this passage?
 To highlight different ways in which people can improve their memory 
 To suggest that puzzles are the best exercise for the mind
 To argue in favor of mnemonic devices
 To state that all memory-enhancing suggestions are mental in nature




B. Choose the best word or phrase to fill in the blanks.
1. He spent the morning attempting to _________ the manager’s phone number.
 range		 obtain 		 impair		 melt

2. She has an impressive vocal _________, which has helped her career to blossom.
 event		 neuron		 range 		 sequence

3. _________ activity and a healthy diet are the best ways to lose weight.
 Mental		 Physical 		 Temporary		 Effective

4. He found it more _________ to speak with his employees rather than shout at them.
 effective 		 visual		 general		 mental

5. They found, in _________, that it was easier to work as a team than separately.
 task			 general 		 range		 technique


C. Choose the correct form of the word or phrase to fill in the blanks.
1. The dog show was the most popular _________ at the summer fair.
 event 		 eventually		 events		 eventual

2. Critics agreed that the underwater _________ were the most exciting parts of the movie.
 sequences 		 sequencing		 sequential		 sequentially 

3. She _________ her employees with finding a way to improve productivity by ten percent.
 task			 tasked 		 tasking		 tasks

4. He did as his psychologist had told him and attempted to _________ himself getting the promotion.
 visual		 visualize 		 visuals		 visually

5. She was _________ all her data over to a flash drive when her computer crashed.
 transfer		 transferred		 transference		 transferring 



1
